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      ²æÃ PÁAvÀgÁdÄ ¦ J¸ï s̈Á.D. Ȩ́Ã 
    ªÀÄÄRå PÁAiÀÄð¤ªÀðºÀuÁ¢üPÁjUÀ¼ÀÄ  

 

 

:: C©ü£ÀAzÀ£Á £ÀÄr :: 

±Á¯Á ²PÀëtªÀÅ «zÁåyðUÀ¼ À fÃªÀ£ÀzÀ°è CvÀåAvÀ ªÀÄºÀvÀézÀ WÀlÖªÁVzÀÄÝ, CzÀgÀ®Æè J¸ï.J¸ï.J¯ï.¹ J£ÀÄßªÀÅzÀÄ CvÀåAvÀ 

¥ÀæªÀÄÄRªÁzÀ ªÉÄÊ°UÀ¯ÁèVzÉ. J¸ï.J¸ï.J¯ï.¹ ¥ÀjÃPÉëAiÀÄ£ÀÄß «zÁåyðUÀ¼ÀÄ «±Áé À̧¥ÀÆªÀðPÀªÁV §gÉAiÀÄÄªÀAvÁUÀ®Æ ªÀÄvÀÄÛ ²PÀëPÀgÀÄ 

«zÁåyðUÀ¼ À£ÀÄß F zÉ¸ÉAiÀÄ°è ¹zÀÞUÉÆ½¸À®Ä C£ÀÄªÁUÀÄªÀAvÉ ¨ÉAUÀ¼ÀÆgÀÄ GvÀÛgÀ ±ÉÊPÀëtÂPÀ f É̄èAiÀÄ G¥À¤zÉÃð±ÀPÀgÀ PÀZÉÃj¬ÄAzÀ GvÀÛgÀ 

G£Àßw-2 J£ÀÄßªÀ C s̈Áå¸À ¥ÀwæPÉUÀ¼ À PÉÊ¦rAiÀÄ£ÀÄß ªÀiÁzÀj GvÀÛgÀUÀ¼ À ¸ÀªÉÄÃvÀ ¤ÃqÀÄwÛgÀÄªÀÅzÀÄ ºÀµÀðzÁAiÀÄPÀ «µÀAiÀÄªÁVzÉ. ¥ÀjÃPÉëUÉ 

G½PÉ EgÀÄªÀ ¢£ÀUÀ¼ À°è «zÁåyðUÀ¼ÀÄ ªÀÄvÀÄÛ ²PÀëPÀgÀÄ ¸ÀzÀj PÉÊ¦rAiÀÄ£ÀÄß DzsÀj¹ vÀªÀÄä ºÀAvÀzÀ°è QæAiÀiÁAiÉÆÃd£É gÀa¹PÉÆAqÀÄ ¸ÀzÀj 

ºÉÆwÛUÉAiÀÄ£ÀÄß ¥ÀjuÁªÀÄPÁj §¼ À¹PÉÆAqÀÄ GvÀÛªÀÄ ¥sÀ°vÁA±À ¥ÀqÉAiÀÄ®Ä ¸ÀºÀPÁjAiÀiÁUÀ°Ã JAzÀÄ D²¸ÀÄvÁÛ, «zÁåyðUÀ¼À 

¥sÀ°vÁA±ÀªÀÅ PÉÃªÀ® «zÁåyðUÉ À̧A§A¢ü¹zÀ ¥sÀ°vÁA±ÀªÁVgÀzÉÃ, É̈AUÀ¼ÀÆgÀÄ £ÀUÀgÀ f É̄èAiÀÄ ¥sÀ°vÁA±ÀªÀÇ DVgÀÄªÀÅzÀjAzÀ f É̄èAiÀÄ 

¥sÀ°vÁA±ÀªÀ£ÀÄß ¥ÀjªÀiÁuÁvÀäPÀªÁV ªÀÄvÀÄÛ UÀÄuÁvÀäPÀªÁV ºÉaÑ¸ÀÄªÀ ¤nÖ£À°è F ¥ÀÄ¹ ÛPÉAiÀÄÄ zÁj¢Ã¥ÀªÁUÀ°Ã JAzÀÄ ºÁgÉÊ¸ÀÄvÁÛ, F 

ºÉÆwÛUÉAiÀÄ£ÀÄß ºÉÆgÀvÀgÀÄªÀ°è ±Àæ«Ä¹zÀ J¯Áè C¢üPÁjUÀ¼ ÀÄ ªÀÄvÀÄÛ ¸ÀA¥À£ÀÆä® ²PÀëPÀjUÉ vÀÄA§Ä ºÀÈzÀAiÀÄzÀ C©ü£ÀAzÀ£ÉUÀ¼ ÀÄ.   

  01.01.2024                                                   

   ¨ÉAUÀ¼ ÀÆgÀÄ                                       

ªÀÄÄRå PÁAiÀÄð¤ªÀðºÀuÁ¢üPÁjUÀ¼À PÀZÉÃj 
J¸ï PÀjAiÀÄ¥Àà gÀ¸ÉÛ 
§£À±ÀAPÀj 
¨ÉAUÀ¼ÀÆgÀÄ £ÀUÀgÀ f¯Áè ¥ÀAZÁAiÀÄvï 
¨ÉAUÀ¼ÀÆgÀÄ  



 

 

 

  

                        

        

 

 

    É̄ÆÃ»vÉÃ±ÀégÀ gÉrØ PÉ ¦ 
  G¥À¤zÉÃð±ÀPÀgÀÄ (DqÀ½vÀ) 

       

 

  

¥ÀæwAiÉÆAzÀÄ «zÁåyðAiÀÄ fÃªÀ£ÀzÀ®Æè ¥ÁæxÀ«ÄPÀ ªÀÄvÀÄÛ ¥ËæqsÀ ²PÀëtªÀÇ ªÀÄºÀvÀé¥ÀÆtðªÁVzÉ. EA¢£À «zÁåyðUÀ¼ ÉÃ, 
ªÀÄÄA¢£À gÁµÀÖçzÀ s̈À«µÀåwÛ£À ¸ÀA¥ÀvÁÛVgÀÄªÀÅzÀjAzÀ, ²PÀëtzÀ CAvÀ À̧vÀéªÀ£ÀÄß ªÀÄvÀÛµÀÄÖ UÀnÖUÉÆ½¸ÀÄªÀ ªÀÄvÀÄÛ UÀÄuÁvÀäPÀªÁV¸ÀÄªÀ ¤nÖ£À°è 
£ÀªÉÄä®ègÀ dªÁ¨ÁÝj EzÉ. ¸ÁªÀðwæPÀ ²PÀëtªÀ£ÀÄß ¸Á¢ü¹zÀ £ÀAvÀgÀ, «zÁåyðUÀ¼ À£ÀÄß À̧ézsÁðvÀäPÀ dUÀwÛUÉ CtÂUÉÆ½¸ÀÄªÀAvÀºÀ UÀÄuÁvÀäPÀ 
²PÀëtPÉÌ MvÀÄÛ ¤ÃqÀ¨ÉÃPÁzÀ F ¸ÀAzsÀ s̈ÀðzÀ°è £ÀªÀÄä É̈AUÀ¼ ÀÆgÀÄ GvÀÛgÀ ±ÉÊPÀëtÂPÀ f É̄èAiÀÄ J¸ï.J¸ï.J¯ï.¹ ¥ÀjÃPÁë ¥sÀ°vÁA±ÀªÀ£ÀÄß 
ºÉaÑ¸ÀÄªÀ ¤nÖ£À°è ºÀ®ªÁgÀÄ PÁAiÀÄðZÀlÄªÀnPÉUÀ¼ À£ÀÄß ºÀ«ÄäPÉÆ¼ ÀÄîvÀÛ̄ ÉÃ §gÀ¯ÁVzÉ. F ¤nÖ£À°è ±Á¯Á ²PÀëPÀgÀÄ ªÀÄvÀÄÛ ªÀÄÄRå 
²PÀëPÀgÀ£ÀÄß ±ÉÊPÀëtÂPÀªÁV À̧zsÀÈqÀgÀ£ÁßV ªÀiÁqÀÄªÀ°è £ÀªÀÄä PÀZÉÃjAiÀÄ ²PÀëuÁ¢üPÁjUÀ¼ ÀÄ, «µÀAiÀÄ ¥Àj«ÃPÀëPÀgÀÄ, À̧A¥À£ÀÆä® ²PÀëPÀgÀ 
vÀAqÀªÀ£ÀÄß gÀa¹PÉÆAqÀÄ PÁAiÉÆÃ£ÀÄäRgÁVzÁÝgÉ. 

 £ÀªÀÄä F É̈AUÀ¼ ÀÆgÀÄ GvÀÛgÀ f É̄èAiÀÄ ±ÉÊPÀëtÂPÀ ¥ÀUÀæwAiÀÄ MAzÀÄ s̈ÁUÀªÁzÀ, J¸ï.J¸ï.J¯ï.¹ ¥ÀjÃPÉëAiÀÄ ¥sÀ°vÁA±ÀªÀ£ÀÄß 
UÀÄuÁvÀäPÀªÁV ºÉaÑ À̧ÄªÀ ¤nÖ£À°è ¥ÀæwªÀµÀð “GvÀÛgÀ GvÀÄÛAUÀ” JA§ ºÉÆwÛUÉAiÀÄ£ÀÄß ºÉÆgÀvÀgÀÄwÛzÀÄÝ ¸ÀzÀj ªÀµÀð ºÉÆ À̧ 
²Ã¶ðPÉAiÉÆA¢UÉ ªÀiÁzÀj GvÀÛgÀUÀ¼ À À̧ªÉÄÃvÀ ‘GvÀÛgÀ G£Àßw-2’ JA§ ²Ã¶ðPÉAiÀÄrAiÀÄ°è C s̈Áå¸À ¥Àæ±Éß¥ÀwæPÉUÀ¼ À£ÉÆß¼ ÀUÉÆAqÀ 
PÉÊ¦rAiÀÄ£ÀÄß ºÉÆgÀvÀgÀ̄ ÁUÀÄwÛzÀÄÝ EzÀgÀ G¥ÀAiÉÆÃUÀªÀ£ÀÄß J¯Áè ²PÀëPÀgÀÄ ªÀÄvÀÄÛ «zÁåyðUÀ¼ ÀÄ ¥ÀqÉAiÀÄÄªÀAvÁUÀ°Ã JAzÀÄ D² À̧ÄvÉÛÃ£É. 

 PÉÃªÀ® GwÛÃtðUÉÆ½ À̧ÄªÀ MAzÉÃ ªÀiÁ£ÀzÀAqÀªÀ£ÀÄß ElÄÖUÉÆ¼ÀîzÉÃ, «zÁåyðAiÀÄ UÀÄuÁvÀäPÀ ¥sÀ°vÁA±ÀPÉÌ E£ÀÆß G½PÉ 
EgÀÄªÀ ¢£ÀUÀ¼ À°è f É̄èAiÀÄ J¯Áè ±Á¯Á ªÀÄÄRå ²PÀëPÀgÀÄ, ²PÀëPÀgÀÄ ªÀÄvÀÄÛ «zÁåyðUÀ¼ ÀÄ vÀªÀÄäzÉÃ DzÀ QæAiÀiÁ AiÉÆÃd£ÉAiÀÄ£ÀÄß 
gÀa¹PÉÆAqÀÄ GvÀÛªÀÄ ¸ÁÜ£À ¥ÀqÉAiÀÄÄªÀAvÁUÀ°Ã JAzÀÄ ±ÀÄ¨sÀ ºÁgÉÊ À̧ÄvÉÛÃ£É. 

 F PÉÊ¦rAiÀÄ£ÀÄß ºÉÆgÀvÀgÀÄªÀ°è £ÀªÀÄä PÀZÉÃjAiÀÄ ²PÀëuÁ¢üPÁjUÀ¼ ÀÄ ºÁUÀÆ J¸ï.J¸ï.J¯ï.¹ £ÉÆÃqÀ¯ï C¢üPÁjUÀ¼ÁzÀ ²æÃ 
gÀªÉÄÃ±ï « gÀªÀjUÀÆ , J¯Áè «µÀAiÀÄ ¥Àj«ÃPÀëPÀgÀÄ ªÀÄvÀÄÛ CªÀgÀ À̧A¥À£ÀÆä® vÀAqÀPÉÌ vÀÄA§Ä ºÀÈzÀAiÀÄzÀ zsÀ£ÀåªÁzÀUÀ¼ À£ÀÄß 
C¦ð À̧ÄvÉÛÃ£É.  

 

01.01.2024                                                                               

¨ÉAUÀ¼ÀÆgÀÄ                                              

   É̄ÆÃ»vÉÃ±ÀégÀ gÉrØ PÉ ¦ 

                                                                    G¥À¤zÉÃð±ÀPÀgÀÄ (DqÀ½vÀ) 

¸ÀAzÉÃ±À 

G¥À¤zÉÃð±ÀPÀgÀÄ (DqÀ½vÀ)gÀªÀgÀ PÀZÉÃj 
±Á¯Á ²PÀët E¯ÁSÉ 
¨ÉAUÀ¼ÀÆgÀÄ GvÀÛgÀ f¯Éè 
¨ÉAUÀ¼ÀÆgÀÄ – 560009 
zÀÆgÀªÁtÂ ¸ÀASÉå – 080 22215312  
EªÉÄÃ¯ï «¼Á À̧ - 
ddpinorth@gmail.com 



 

 

 

                    

             

 

 

 

           gÀªÉÄÃ±ï « 
        ²PÀëuÁ¢üPÁjUÀ¼ÀÄ & 
f¯Áè J¸ï.J¸ï.J¯ï.¹ £ÉÆÃqÀ¯ï C¢üPÁjUÀ¼ÀÄ 
 

 

 

 

 ²PÀëtªÀÅ «zÁåyðAiÀÄ ªÀåQÛvÀé ¨É¼ ÀªÀtÂUÉAiÀÄ°è vÀ£ÀßzÉÃ DzÀ ªÀÄºÀvÀéªÀ£ÀÄß ºÉÆA¢zÉ. CzÀgÀ®Æè ªÀiÁzsÀå«ÄPÀ ²PÀëtªÀÇ 
«zÁåyðAiÀÄ ªÀÄÄA¢£À s̈À«µÀåzÀ vÀ¼ À¥ÁAiÀÄªÁVzÀÄÝ, gÁµÀÖçzÀ GvÀÛªÀÄ £ÁUÀjÃPÀ ¥ÀæeÉAiÀÄ£ÁßV À̧ÄªÀ°è ªÀÄºÀvÀÛªÀÄ WÀlÖªÁVzÉ. PÀ£ÁðlPÀ 
²PÀët À̧AgÀZÀ£ÉAiÀÄ ªÀåªÀ¸ÉÜAiÀÄ°è ªÀiÁzsÀå«ÄPÀ ²PÀëtzÀ ªÀÄºÀvÀÛgÀ WÀlÖªÉAzÉÃ ¥ÀjUÀtÂvÀªÁVgÀÄªÀ J¸ï.J¸ï.J¯ï.¹ «zÁåyðUÀ¼ ÀÄ 
ªÀÄÄA¢£À ±ÉÊPÀëtÂPÀ DAiÉÄÌ ªÀÄvÀÄÛ ªÀÈwÛ fÃªÀ£À ¤zsÁðgÀzÀ PÉÊUÉÆ¼ ÀÄîªÀ ¥ÀæxÀªÀÄvÀB ºÀAvÀªÁVzÀÄÝ, F vÀgÀUÀwAiÀÄ ¥sÀ°vÁA±ÀªÀÇ CvÀåAvÀ 
ªÀÄºÀvÀÛgÀªÁVgÀÄvÀÛzÉ. 

 ¥ÀæwÃ ªÀµÀð PÀ£ÁðlPÀ ±Á¯Á ¥ÀjÃPÉë ªÀÄvÀÄÛ ªÀiË®å ¤tðAiÀÄ ªÀÄAqÀ½¬ÄAzÀ £ÀqÉ À̧®àqÀÄªÀ ºÀvÀÛ£ÉÃ vÀgÀUÀwAiÀÄ ¥ÀjÃPÉëUÉ 
¨ÉAUÀ¼ÀÆgÀÄ GvÀÛgÀ ±ÉÊPÀëtÂPÀ f É̄è¬ÄAzÀ ¥Àæ¸ÀPÀÛ ªÀµÀð 44378 ±Á¯Á «zÁåyðUÀ¼ ÀÄ ¥ÀjÃPÉëUÉ ºÁdgÁUÀÄwÛzÀÄÝ, F «zÁåyðUÀ¼À 
¥sÀ°vÁA±ÀªÀ£ÀÄß UÀÄuÁvÀäPÀªÁV ºÉaÑ À̧ÄªÀ ¤nÖ£À°è ±Á¯Á ²PÀëPÀjAzÀ ªÉÆzÀ®ÄUÉÆAqÀÄ, ªÀÄÄRå ²PÀëPÀgÀÄ C®èzÉÃ vÁ®ÆèPÀÄ ºÀAvÀ, f¯Áè 
ºÀAvÀ, gÁdå ºÀAvÀzÀ J¯Áè C¢üPÁjUÀ¼ÀÄ ««zsÀ PÁgÀåvÀAvÀæUÀ¼ À ªÀÄÄSÉÃ£À  ¥ÀæAiÀÄwß¸ÀÄvÀÛ̄ ÉÃ EzÁÝgÉ. F ¤nÖ£À°è £ÀªÀÄä 
PÀZÉÃj¬ÄAzÀ®Æ 22 ªÉÄÃ 2023 gÀAzÀÄ À̧PÁðj ªÀÄvÀÄÛ C£ÀÄzÁ¤vÀ ¥ËæqÀ±Á¯Á ªÀÄÄRå ²PÀëPÀgÀ À̧¨sÉ PÀgÉzÀÄ ¥Àæ¸ÀPÀÛ ªÀµÀðzÀ 
J¸ï.J¸ï.J¯ï.¹ ¥sÀ°vÁA±ÀªÀ£ÀÄß UÀÄuÁvÀäPÀªÁV ºÉaÑ¸ÀÄªÀ ¤nÖ£À°è  QæAiÀiÁ AiÉÆÃd£ÉAiÀÄ£ÀÄß gÀa¹, ««zsÀ PÁAiÀÄðZÀlÄªÀnPÉUÀ¼ À 
ªÀÄÆ®PÀ ²PÀëPÀgÀÄ ªÀÄvÀÄÛ  «zÁåyðUÀ¼À£ÀÄß ªÀÄÄlÄÖªÀAvÀºÀ PÉ®¸ÀªÀ£ÀÄß dÆ£ï 2023jAzÀ®Æ ªÀiÁqÀÄvÀÛ̄ ÉÃ §gÀÄwÛzÉ.   

F PÁAiÀÄðZÀlÄªÀnPÉAiÀÄ MAzÀÄ s̈ÁUÀªÁV “GvÀÛgÀ G£Àßw-2” JA§ ªÀiÁzÀj GvÀÛgÀUÀ¼ À£ÀÄß M¼ ÀUÉÆAqÀ C s̈Áå¸À ¥ÀwæPÉUÀ¼ À 
¸ÀA¥À£ÀÆä® ¸Á»vÀåªÀ£ÀÄß gÀa¹, ¥Àæ¸ÀÄÛvÀ  ²PÀëPÀjUÉ ¤ÃqÀÄwÛzÉÝÃªÉ. F À̧A¥À£ÀÆä® ¸Á»vÀåªÀ£ÀÄß UÀÄuÁvÀäPÀ ¥sÀ°vÁA±ÀzÀ MAzÀÄ 
PÁAiÀÄðvÀAvÀæªÁV ºÉÃUÉ §¼ÀPÉ ªÀiÁqÀ¨ÉÃPÉAzÀÄ «µÀAiÀÄ ¥Àj«ÃPÀëPÀgÀÄ ªÀÄvÀÄÛ «µÀAiÀÄªÁgÀÄ À̧A¥À£ÀÆä® ªÀåQÛUÀ¼ À  ªÀÄÄSÉÃ£À 
ªÀiÁUÀðzÀ±Àð£À ªÀiÁrzÀÄÝ, EzÀÄ F ±ÉÊPÀëtÂPÀ ªÀµÀðzÀ ¨ÉAUÀ¼ ÀÆgÀÄ GvÀÛgÀ f É̄èAiÀÄ ¥sÀ°vÁA±ÀªÀ£ÀÄß ºÉaÑ¸ÀÄªÀ°è ¸ÀºÀPÁjAiÀiÁUÀÄªÀÅzÉA§ 
D±ÀAiÀÄzÉÆA¢UÉ F PÉÊ¦rAiÀÄ£ÀÄß ²PÀëPÀgÀ ªÀÄvÀÄÛ «zÁåyðUÀ¼À PÉÊVqÀ¯ÁUÀÄwÛzÉ. EzÀgÀ À̧zÀÄ¥ÀAiÉÆÃUÀªÀ£ÀÄß f¯ÉèAiÀÄ J¯Áè 
«zÁåyðUÀ¼ ÀÄ, ²PÀëPÀgÀÄ ¥ÀqÉzÀÄ, GvÀÛªÀÄ ¥sÀ°vÁA±ÀPÁÌV ±ÀÄ¨sÀ ºÁgÉÊ À̧ÄvÉÛÃ£É. 

 

01.01.2024                                                                 

¨ÉAUÀ¼ÀÆgÀÄ                                                            gÀªÉÄÃ±ï « 

                                                   ²PÀëuÁ¢üPÁjUÀ¼ÀÄ  & f¯Áè J¸ï.J¸ï.J¯ï.¹ £ÉÆÃqÀ¯ï C¢üPÁjUÀ¼ÀÄ 

ªÀÄÄ£ÀÄßr 

G¥À¤zÉÃð±ÀPÀgÀÄ (DqÀ½vÀ)gÀªÀgÀ PÀZÉÃj 
±Á¯Á ²PÀët E¯ÁSÉ 
¨ÉAUÀ¼ÀÆgÀÄ GvÀÛgÀ f¯Éè 
¨ÉAUÀ¼ÀÆgÀÄ – 560009 
zÀÆgÀªÁtÂ ¸ÀASÉå – 080 22215312 
EªÉÄÃ¯ï «¼Á À̧ - 
ddpinorth@gmail.com 
 



 

 

             

            
 
 
 
 
 
 
 
 
 
 

        ¥ÀAPÀd f ¹ 
          ²PÀëuÁ¢üPÁj 
 

 

 

²PÀëtªÀÅ eÁÕ£ÀªÀ£ÀÄß PÀnÖPÉÆ¼ ÀÄîªÀ, eÁÕ£ÀªÀ£ÀÄß À̧AgÀa¹PÉÆ¼ÀÄîªÀ ºÁUÀÆ eÁÕ£Á£ÉéÃµÀuÉAiÀÄvÀÛ £ÀªÀÄä£ÀÄß ¥ÉæÃgÉÃ¦ À̧ÄªÀ MAzÀÄ 

CzÀÄãvÀ ¥ÀæQæAiÉÄ. É̈ÆÃzsÀ£É, PÀ°PÉ, PÀ°PÉAiÀÄ zÀÈrüÃPÀgÀt ºÁUÀÆ ªÀiË®åªÀiÁ¥À£À QæAiÉÄUÀ¼ ÀÄ F ¥ÀæQæAiÉÄAiÀÄ ¥ÀæªÀÄÄR ¨sÁUÀUÀ¼ÁVªÉ. 

ªÀiË®åªÀiÁ¥À£ÀªÀÅ «zÁåyðUÀ¼À UÀÄuÁvÀäPÀ PÀ°PÉAiÀÄ£ÀÄß ºÁUÀÆ PÀ°PÁ¥sÀ®UÀ¼ À£ÀÄß MgÉºÀZÀÄÑªÀ MAzÀÄ ¸ÁzsÀ£ÀªÁVzÉ. F ªÀiË®åªÀiÁ¥À£À 

¥ÀæQæAiÉÄAiÀÄ£ÀÄß À̧zÀÈqsÀÀUÉÆ½¸ÀÄªÀ »£Éß É̄AiÀÄ°è ºÁUÀÆ J¸ï.J¸ï.J¯ï.¹ «zÁåyðUÀ¼À£ÀÄß 2023-24£ÉÃ ¸Á°£À ¥ÀjÃPÉëUÁV 

¹zÀÞUÉÆ½¸ÀÄªÀ ¤nÖ£À°è ¨ÉAUÀ¼ÀÆgÀÄ GvÀÛgÀ f É̄è¬ÄAzÀ  C s̈Áå¸À ¥Àæ±Éß¥ÀwæPÉUÀ¼ À£ÀÄß M¼ÀUÉÆArgÀÄªÀ "GvÀÛgÀ G£Àßw-2" JA§ 

PÉÊ¦rAiÀÄ£ÀÄß ºÉÆgÀvÀgÀ̄ ÁUÀÄwÛzÉ. 2023-24£ÉÃ ¸Á°£À J¸ï.J¸ï.J¯ï.¹ ¥sÀ°vÁA±À ¸ÀÄzsÁgÀuÉUÁV ºÉÆgÀvÀgÀÄwÛgÀÄªÀ F DªÀÈwÛAiÀÄÄ 
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2024 £ÉÃ ¸Á°£À J¸ï.J¸ï.J¯ï.¹ ¥ÀjÃPÉëAiÀÄ£ÀÄß £ÀqÉ¸ÀÄªÀ «zsÁ£ÀzÀ°è ºÀ®ªÁgÀÄ §zÀ¯ÁªÀuÉUÀ¼ À£ÀÄß vÀgÀ®Ä PÀ£ÁðlPÀ ±Á¯Á 
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16.�ೈಸ��ಕ

ಸಂಪನೂ�ಲಗಳ ಸು��ರ
�ವ�ಹ�ೆ

08

ಒಟು� �ೌತ ��ಾನ       : 28



ರ�ಾಯನ ��ಾನ: 25

�ೕವ��ಾನ        : 27
80

�ಾ��ಕ ಪ�ೕ�ೆಯ ಪ��ೆ� ಪ���ೆ ಸ�ರೂಪ:

ಪ��ೆ�ಗಳ ಸ�ರೂಪ ಪ��ೆ�ಗಳ ಸಂ�ೆ� ಅಂಕಗಳ�

ಬಹು ಅಂಶ ಆ�� ಪ��ೆ�ಗಳ� 8 8

ಅ� �ರು ಉತ�ರದ ಪ��ೆ�ಗಳ� 8 8

�ರು ಉತ�ರದ ಪ��ೆ�ಗಳ�
(2 ಅಂಕಗ��ೆ)

8 16

�ೕಘ� ಉತ�ರಗಳ ಪ��ೆ�ಗಳ�
( 3 ಅಂಕಗ��ೆ)

9 27

�ೕಘ� ಉತ�ರಗಳ ಪ��ೆ�ಗಳ�
( 4 ಅಂಕಗ��ೆ)

4 16

�ೕಘ� ಉತ�ರಗಳ ಪ��ೆ�ಗಳ�
( 5 ಅಂಕಗ��ೆ)

1 5

ಒಟು� 38 80
( 20 ಅಂಕಗ��ೆ ಆಂತ�ಕ
ಆ�� ಪ��ೆ�ಗಳ� ಇರುತ��ೆ)

4  ರೂಪ�ಾತ�ಕ
�ೌಲ��ಾಪನಗ�ಂದ

20×4

20
______________________

100



Model Question Paper - 01 
Part-A Physics 

I. Four alternatives are given for each of the following questions / incomplete statements. Choose the 
correct alternative and write the complete answer along with its letter of alphabet 
1*4=4 
1. The correct statement among the following related to the concave lens is 
(A) converges the light rays (B) diverges the light rays 
(C) forms inverted image (D) forms real image. 
2. An electric bulb is rated 220 V and 100 W. When it is operated on 110 V, the 
power consumed will be – 
(a) 100 W (b) 75 W (c) 50 W (d) 25 W 
3. A positively-charged particle (alpha-particle) projected towards west is 
deflected towards north by a magnetic field. The direction of magnetic 
field is 
(a) towards south (b) towards east (c) downward (d) upward 
4. Which of the following is not an example of a bio-mass energy source? 
(a) wood (b) gobar-gas (c) nuclear energy (d) coal 

 
II. Answer the following questions : 1*2=2 
5. What is meant by power of accommodation of the eye? 
6. How is a voltmeter connected in the circuit to measure the potential difference between two points? 

 
III. Answer the following questions: 2*2=4 
7. Draw the diagram of a simple electric motor and label ‘Split rings’ ?  OR 
What are the two methods of increasing magnetic field in a solenoid? 
8. Write any two limitations of producing electricity from wind energy. 

 
IV. Answer the following. 3*3=9 
9. State Joule’s law of heating. Name any two devices that work on application of this law. 
b)State Ohms law. 

10. Draw ray diagram of image formation when the object is kept at 2F1 of the convex lens. With the help of 
the ray diagram, mention the position and nature of the image formed. 
[ F1 : Principal focus of the lens ] OR 
Draw ray diagram of image formed when object is kept between C and F of the concave mirror. With the 

help of ray diagram mention the position and nature of image formed. 
[ F : Principal focus of the mirror, C : Centre of curvature of mirror ] 

11. The far point of a myopic person is 80 cm in front of the eye. What is the nature and power of the lens 
required to correct the problem? What is cataract? 
V. Answer the following: 4*1=4 
12.a) Write any four uses of concave mirror. 
b) An object is placed at a distance of 15 cm on the principal axis in front of a concave lens with a focal 

length of 10 cm. Find the image distance. OR 
a) Convex mirror is commonly used as rearview mirror in vehicles. Why? 
b) An object is placed at a distance of 20 cm on the principal axis in front of a convex mirror with focal length of 30 

cm. Find the image distance. 
 

VI. Answer the following: 1*5=5 
13. a. In domestic electric circuit electrical appliances are not connected in series. Why? 
b. A copper wire has diameter 0.5 mm and resistivity of 1.6 × 10–8 Ω m. What will be the length of this 
wire to make its resistance 10 Ω? How much does the resistance change if the diameter is doubled? 

PART-B CHEMISTRY 



VII. Four alternatives are given for each of the following questions / incomplete statements. Choose 
the correct alternative and write the complete answer along with its letter of alphabet . 
1*2=2 
14. Which of the following pairs will give displacement reaction? 

a) NaCl solution and copper metal 
b) MgCl2 solution and aluminium metal 
c) FeSO4solution and silver metal 
d) AgNO3 solution and copper metal 

15. 18th group elements are called 

a) Alkali metals b) Halogens c) Inert gases d) Alkaline earth metals 
VIII. Answer the following questions 1X4=4 

16. Name the functional group present in butanoic acid 

17. What are redox reactions? 

18. Fe2O3+ 2Al Al2O3+ 2Fe. Identify the type of chemical reaction. 

19. Complete the following reaction: 

FeSO4+ Cu    

 
IX. Answer the following questions 2x3=6 

20. Draw the diagram showing the reaction of zinc granules with dilute sulphuric acid, and testing hydrogen 

gas by burning and label zinc granules and dil. sulphuric acid. 

21 Write the electron dot structure for the formation of magnesium chloride. OR 

8. What is corrosion? What are the conditions required for the corrosion of iron. 

22. Draw a diagram of electrolytic refining of copper and label 

i) Anode mud ii) Electrolyte used 
 
 

X. Answer the following questions 3X3=9 

23. i) What is a decomposition reaction? 

ii) Name different types of decomposition reactions and give one example for each. 

24. A compound ‘x’ from sea water is used to manufacture compound ‘y’ which is bitter in taste and is used 

for softening hard water. When ‘y’ reacts with dil. HCl a colourless gas ‘z’ is evolved, which is a non- 

supporter of combustion. If ‘z’ is passed through a solution of ‘y’, ‘w’ is precipitated which is used as an 

antacid. Identify ‘w’,‘x’,‘y’,‘z’. 

OR 

We know that, metals and ionic compound in molten state or in aqueous solution conduct electricity. Is the 

conduction of electricityin the two process similar. Explain. 

25. Give reasons 

i. Atomic size decreases as we move along the period. 
ii. Hydrogen is placed in first group. 

iii. F-block elements are placed at the bottom of the periodic table. 
XI. Answer the following questions 4x1=4 



26. Write the structural formulae for the following compounds 

i) Benzene ii) Butanone iii) Ethyne  iv) Cyclohexane 

Part C -BIOLOGY 
XII. Four alternatives are given for each of the following questions /incomplete statements. Choose 
the correct alternative and write the complete answer along with its letter of alphabet 
1*2=2 
27. In mitochondria the breakdown of pyruvate gives   

a) 6CO2 + 6H2O + energy b) Lactic acid + energy 
b) 3CO2 + 3H2O + energy d) Lactic acid + CO2 + energy 

28. The Aquatic food chain in the following is   
a) Phytoplankton’s → zooplanktons → fish → Shark 
b) Grass → Insects → Snake → Hawk 
c) Tree → rabbit → Snake → Hawk 
d) Plants → sheep → Human beings 

XIII Answer the following. 1*2=2 
29. Write the difference between phototropism and geotropism. 
30. Mention any two major benefits of dams. 
XIV  Answer the following questions: 3x2=6 
31. What changes you can make in your habits to become more environment friendly? 

32. Draw a labeled diagram of excretory system and label the following. 
a)  Ureter b) Urinary bladder 

33. Can a wing of butterfly and the wing of a bat are homologous organs? Justify. 
XV Answer the following questions: 3x3=9 
34. Mention the events that occur during photosynthesis in plants. OR 

Explain the stages of “double circulation “ of the blood in humans. 
35.  Explain Mendel’s observation when he crossed a homozygous tall(TT) 

plant with Homozygous dwarf (tt) plant followed by self –cross. OR 
How is Sex of a child determined in human beings? 

36. What are the important functions of placenta? 
XVI.  Answer the following question: 2x 4=8 
37. Draw a diagram of human brain and label the following. 

a) Cerebellum b)Mid-brain 
38. What is the cause of variation in asexually reproducing organisms? 

 

An individual organism cannot pass the experiences acquired 
during its life time to the progenies of the next generation.” Explain 
this concept with the help of an illustration. 



Model Question Paper – 01 
  KEY ANSWERS 

PART – A  PHYSICS 
Qn . Nos                                                    Value points                                                                              Total 

I.   Four alternatives are given for each of the following questions / incomplete 
 statements. Choose the correct alternative and write the complete answer along 
 with its letter of alphabet.                                   4×1=4 

1.     (b) diverges the light rays                                                                                                                                                         1               
2.    (d) 25 W            1 
3.   (d) upward            1 
4.     (c) nuclear energy                                                                                            1 

II.    Answer the following questions:                                                        2×1=2 
  5.     The ability of human eye to see nearby and distant objects clearly by changing the  
     focal length of the eye lens.          1 
  6.     To measure the potential difference between two points, a voltmeter should be  
     connected in parallel to the points.           1 
III.     Answer the following questions:                                                                2×2=4                                                      
  7. 

                       Diagram 1½ + Labeling ½                       2 

OR 
 By increasing the number of turns in the coil 
 By increasing the strength of the current 
 By using soft iron core as a core material 

           (Any two) 1+1   2              
8.    

 A wind mill requires wind of speed more than 15 km/h to generate electricity. 
 Setting up of wind energy farms is expensive. 
 Cannot be established in all places and requires more land.                                                                 

                             (Any two) 1+1  2 

IV.   Answer the following:                                                                 3×3=9 
  9. a)   Joule’s law states that, the heat produced in a resistor is (i) directly proportional to 
   the square of current for a given resistance, (ii) directly proportional to resistance for   
   a given current and (iii) directly proportional to the time for which the current flows 
   through the resistor.    



                                                                                    
 Qn . Nos                                                             Value points                                                                    Total 

     In other words, if current ‘I’ is passed through a conductor of resistance ‘R’ for time 
    ‘t’ then heat produced is, H=I2Rt .           1      

     Electric heater, Electric iron, Filament lamp, Electric kettle, Electric cooker hob,  
     Electric toaster, etc.             (Any two)     ½ + ½  
            b)  Ohm’s law states that, the current through a conductor between two points is directly  
     proportional to the potential difference across the two points, provided its temperature 
     remains the same.      
     In other words, if the potential difference across the two ends of a conductor is ‘V’ and 
     the current through it is ‘I’ then , V/I = constant or V/I = R.     1 3 
          10.  

    Diagram 2 
  Position of image: at 2F2           1 
  Nature of image: real and inverted          1  3 

OR 

        Diagram 2 
  Position of image: beyond C              1 
  Nature of image: real and inverted             1            3 
         11.   Given, distance of far point x = 80 cm. To view distant objects correctly, focal length of  
    the corrective lens, f = -x = -80cm. 
    Power of the lens P (in meters) = (1/ -0.8) = -1.25D.             1 
    The lens is concave.                        1 
    Crystalline lens of people at old age becomes milky and cloudy. This condition is called  
    cataract.                   1  3 
    
 
 



                                                                                 
 Qn . Nos                                                             Value points                                                                    Total 

              V.  Answer the following:                                                 1×4=4                      
          12.a)  Uses of  Concave mirror: 

 Used in Torches,  
 Used in Search-light,  
 Used in Vehicle headlights, 
 Used as Shaving mirrors,  
 Used in Solar furnace, 
 Dentist use to see large images of the teeth.      (Any 4) 2 

 b)   Object distance, 𝑢 = - 15 cm, 

 Focal length of a concave lens,  𝑓 = - 10 cm, 

 Image distance, 𝑣 = ?               ½ 
 According to lens formula, 

   
1
𝑓
 = 

1
𝑣
 – 

1
𝑢
              ½ 

   
1

−10
 = 

1
𝑣
 – 

1
−15

    

          
1

−10
 +  

1
−15

  = 
1
𝑣
               ½ 

    
1
𝑣
  = 

−3−2
30

 

   
1
𝑣
  =  

−5
30

 

   ⸫ 𝑣 = - 6 cm               ½  4 
OR 

a) Convex mirrors always give an erect, diminished image. As they have a wider field of  
view thus enabling the vehicle driver to view much larger image.                     2 

b) Object distance, 𝑢 = - 20 cm, 

Focal length of a convex mirror,  𝑓  =  + 30 cm, 

Image distance, 𝑣 = ?                ½  

 According to lens formula, 

     
1
𝑓
 =  

1
𝑣
  + 

1
𝑢
               ½  

    
1

30
 = 

1
𝑣
 + 

1
−20

         

    
1

30
 -  

1
−20

  = 
1
𝑣
               ½   

    
1
𝑣
  =   

1
30

 + 
1

20
  

            
1
𝑣
  = 

2+3
60

    



                                                                                   
 Qn . Nos                                                             Value points                                                                    Total 

                         

   
1
𝑣
  =  

5
60

 

   ⸫ 𝑣 = 12 cm               ½  4 

VI.     Answer the following:                                                 1×5=5 
 13. a)  Because, 

 The current is constant throughout the electric circuit. 

 Overall resistance of circuit will increase due to which the current from power supply  
will be less . 

 Different gadgets need currents of widely different values to operate properly. 

 When one component fail the entire circuit is broken and none of the components 
 works.                2 

b)  Given,  Area of cross section of the wire, A = π ( 
𝑑
2

 )2       

       Diameter = 0.5 mm = 0.0005 m 
       Resistance, R= 10Ω          

        We know that, R = ρ 
𝑙
A

           ½                 

       

                     𝑙 = 
RA
𝜌

          

             =   
10×3.14×(0.0005

2 )2

1.6×10−8       ½ 

              

           = 
10×3.14×25

4×1.6
   = 122.72 m 

 ⸫ Length of wire = 122.72 m        ½ 
      If the diameter of wire is doubled, new diameter = 2 × 0.5 = 1mm = 0.001m  ½ 
      Let new resistance be  R1. 

                     R1 = ρ 
𝑙
A

 

              = 
1.6×10−8 ×122.72

𝜋(1 
2 ×10−3)2                                                            ½ 

   = 1.6×10−8 ×122.72×4
3.14 ×10−6             

            = 250.2× 10−2 = 2.5Ω        ½ 5 
      ⸫ The length of the wire is 122.7 m and the new resistance is 2.5 Ω. 



 
 

Qn 
Nos 

 
Value points 

 
Tot
al 

VII 
14. 
15. 
VIII 
16. 
17. 
 
18. 
19. 
 
IX 
20. 
 
 
 
 
 
 
 
 
 
 
 
21 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
22 
 
 
 
 
 
 
 
 
 

 
d) AgNO3 and Cu 
c) Inert gases 
 
 
Carboxylic acid 
The reactions in which both oxidation and reduction takes place simultaneously 
is called  redox reaction. 
Displacement reaction. 
No reaction. Because Cu is less reactive than Fe 
 

 
 

Diagram 2 
 
 
𝑀𝑔 → 𝑀𝑔+2 + 2𝑒−  
         2𝐶𝑙 + 2− → 𝐶𝑙2  
 

 
 

OR 
 

The phenomenon in  which in which metals are slowly eaten away by the 
reaction of air, water, chemicals present in the atmosphere is called corrosion. 1                    
Conditions required for corrosion iron are oxygen and moisture                        1                                                                                                                                                                                                                                                             

 

 
1 
1 
 
1 
1 
 
1 
1 
 
 
 
 
 
 
 
 
 
 
2 
 
 
 
 
 
 
2 
 
 
 
 
 
 
 
 
 
2 
 
 
 
 
 
 
 
 
 
 
2 
 



 
 

X 
23 
 
 
 
 
 
 
24 
 
 
 
 
 
 
 
 
 
 
 
25 
 
 
 
 
26 

 
i)A reaction in which a single breaks down to form two or more products is 
called decomposition reaction                                                                             1                                                                                   
ii) 3 types of  decomposition reactions                                                              1/2                                                                                                                                                                                                        
   Thermal decomposition Ex: Breakdown of CaCO3                                       1/2 
    Photo decomposition         ex:  decomposition of  silver chloride                            1/2                                                                                                                                                                                                                                               
    Electrolysis    ex: decomposition of water                                                    1/2 
                                                                                                          
W:  Calcium carbonate CaCO3                                                                             1                                                                               
X:  Sodium Chloride NaCl                                                                                   1                                                                                       
Y: Sodium carbonate Na2CO3                                                                            1/2 
 Z: Carbon dioxide CO2                                                                                     1/2                                                                                               
      

OR 
 
No , it is  not similar                                                                                            1                                                                                                 
Ionic compounds in molten state or in their aqueous solution form they contain 
ions which help in conducting electricity                                                            1 
Metals conduct the electricity because they have free electrons  to move         1                                                       
 
i.Electrons are added to the same shell and the nucleus pulls the electrons 
towards it                                                                                                              1                                                                                                                   
ii.It forms cation as alkali metals                                                                         1        
iii. F block elements have similarities in periods                                                 1                                                
 
  i)  C6H6 

                                                                                                                                  1                                             

           

                                                                                    

  ii)     

 

                                                                                                                              1                                                                                                                                          
                                                                                                                                                                                   

iii)    C2H2   Ethyne  

    
                                                                                                                                                                 
                                                                                                                              1 
 
Iv    C6H12                                                                                                                             
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3 
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Qn 
Nos 

Biology 
Value points 

Total 

XII 
27 
28 
 
XIII 
 29 
 
30 
 
XIV 
31 
 
 
32 
 
 
 
 
 
 
 
33 
 
 
 
 
 
XV 
34 
 
 
 
 
 
 
 
 

 
 a)  6CO2  + 6H2O + energy                                                                                  
1                  
a)  Phytoplanktons  →  zooplanktons  → fish → Shark                                    

1 
 
 Phototropism: The movement of plant parts in response to light .                   
1/2                                                      
 Geotropism: The  movement of plant parts in response to gravity .                 
1/2 
 
1.Implementation of irrigation project                                                              
1/2 
2. Production of  electricity                                                                               
1/2 
 
1) Use solar water heater and cookers, install solar panel for electricity             
1                2) Use  cloth bags instead of polythene bags.                                                       
1 
Diagram 

 
 
Butterfly  has  chitinous  exoskeleton. The bat  have wings made up of skin 
folds 
 Since both butterfly and bat use their wings for flying but do not show any 
resemblance in wing structure. 
 They are not  homologous , but they are Analogous organs  with similar 
function. 
 
 
 The  important events  that occur during photosynthesis in plants are:                                                                     

 
 
2 
 

1 

 

1 

2 

 

 

 

2 

 

 

2 

 

 

 

 

3 

 

 

 

 

                                                                                                      1 

 
 
 
 
 
 
 
 
 
 
4 



 
 

 
 
 
 
 
 
 
35 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
36 
 
 
 
XVI 
37 
 
 
 
 
 
 
 
 
 
38 
 
 
 

     i) Absorption of light energy by chlorophyll                                                    
1 
     ii) Conversion of light energy into chemical energy, splitting of water  
         molecules  into hydrogen and oxygen                                                          
1 
    iii) Reduction of CO2 to carbohydrates                                                             
1 
                                                OR                 
In humans blood circulation in heart : 
pulmonary circulation:  Blood is pumped through right ventricle,carried to 
lungs by pulmonary artey after purification,oxegenated blood is brought back 
to the left auricle through pulmonary veins. 
Systemic circulation: Blood is pumped through left ventricle, oxygenated 
blood is carried to different parts of the body through Aorta.Blood reaches 
tissues through capillaries supplying oxygen and finally Deoxygenated blood 
is brought back through veins. 

 
When Mendel crossed pure tall pea plant(TT) with pure dwarf pea plant (tt), 
he                                                           Obtained all hybrid tall pea plants (Tt) 
in F1- generation. 
When F1 plants were self crossed  the following type of plants were got. 
                                       

F1 T t 
T TT Tt 
t Tt tt 

   
     In F2  generation he got 3:1  phenotypic ratio of plant  with 3 tall and 1 
dwarf plant. 
   Genotypic ratio is 1:2:1 

                                  OR 
A male germ cell forms two types of gametes  one with X  and one with Y 
chromosome. 
A female germ cell carries  only one type  of gametes,all with X 
chromosomes.   If a sperm carrying X chromosome fertilizes egg the child 
born is a Female.                  If a sperm carrying Y chromosome fertilizes egg 
the child born is a Male.     Thus the sperm determines the sex of the child.              

 
1) Provides nutrition to the developing embryo                                                                                                       
 2)It helps in attachment  of foetus to the wall of uteru 
 3)It helps in exchange of CO2  and  oxygen                    

 
Diagram 

 
 

3 

 

 

 

 

 

3 

 

 

 

3 

 

 

3 

 

 

 

 

4 

 

 

 

 

 

 

4 



 
 

These variations may be either due to some environmental factors like light, 
scarcity of food, abundance of food, temperature etc or due to small 
inaccuracies in DNA copying (mutation).  
The experiences of an individual during its lifetime are acquired traits. These 
are changes in the non-reproductive tissue of the individual, and do not affect 
the DNA of the germ cell of that individual. As in reproduction, only the 
germ cells participate, the changes in non-reproductive tissues are not passed 
on to the next generation and therefore cannot direct evolution. 
For example if a person reads a book on birds the knowledge he earns by 
reading the book does not make any change in the gene hence this knowledge 
will not get automatically transmitted to his next generation. Such a trait is 
called acquired trait. 

 
 

 
 
 
 
 
 
 



MODEL QUESTION  PAPER - 2 
 

PART A- PHYSICS 

I. Four alternatives are given for each question .Choose the most appropriate answer and write 
it down with it’s alphabet given:-                                                    4 x 1 = 4 

1. S.I Unit of electric current is ________ 
a. Ohm   b. Ampere   c. Watt   d. Volt 

2. Commercial electric motors do not use _______ 
a. An electromagnet to rotate the armature 
b. A soft iron core on which the coil is wound 
c. A permanent magnet to rotate the armature 
d. Effectively the large number of turns of conducting wire in the current carrying coil. 

3. Global warming is caused by the release of  _____________ 
a. Carbon di oxide   b. Sulphur di oxide  c. Carbon mono oxide   d. Nitrogen di oxide 

4. A light ray enters from medium A to medium B as shown in figure. The 
refractive index of medium B relative to A will be  
a. Greater than unity    b. Lesser than unity 
c. Equal to unity            d. Zero 
 

 
II. Answer the following questions:-                                                                 2 x 1 = 2 

5. A & B are two materials pursuing the resistivities of 2.63 × 10−8& 1.84 × 10−6.Which among them 
is the good conductor of electricity. Give reason 

6. When does a conductor carrying current experiences maximum force? 
 

III. Answer the following questions: -                                                               2 x 2 = 4 
7. What are the environmental consequences of the increasing demand for energy? 
8. What happens to the image distance in the eye when we increase the distance of an object from the 

eye? 
 

IV. Answer the following questions:-                                                                   3 x 3 =9 
9. An object 5 cm in length is placed at a distance of 20 cm in front of a convex mirror of radius of 

curvature 30 cm. Find the position of the image, its nature and size. 
                                                     OR 
An object of size 7 cm is placed at 27 cm in front of a concave mirror of focal length 18 cm. At what 
distance from the mirror should a screen be placed so that a sharply focussed image can be obtained? 
Find the size and nature of the image. 

10. Why does the sky appears dark instead of blue to an astronaut? Why does sun appears white during 
the noon time. 
                                                      OR 
How will you use two identical glass prisms so that a narrow beam of white light incident on one 
prism emerges out of the second prism as white light? 

11. Draw the ray diagram for a convex lens when the object is kept at 2𝐹1,also determine the nature, size 
and position the image formed using the diagram. 

 
V. Answer the following question:-                                                                  1 x 4 = 4 

12.  a) What is i) the highest , ii) the lowest total resistance that can be secured by the combination of four 
coils of resistance 4Ω,8Ω,12Ω and 24Ω? 

b) Why does the cord of an electric heater not glow while the heating element does? 
 

VI. Answer the following question:-                                                                    1 x 5 = 5 
13. a) Imagine that you are sitting in a chamber with your back to one wall. An electron beam, moving 

horizontally from the back wall towards the front wall, is deflected by a strong magnetic field to your 
right side. What is the direction of the magnetic field? Justify your answer. 



b) What is the function of an earth wire? Why is it necessary to earth metallic appliances? 
 

PART B- CHEMISTRY 
 

VII. Four alternatives are given for each question .Choose the most appropriate answer and write 
it down with it’s alphabet given:-                                                                     2 x 1 = 2 

14. Amphoteric oxide among the following is _________ 
a. 𝑁𝑎2𝑂          b.  𝐾2𝑂    c. 𝐴𝑙2𝑂3    d. MgO 

15. Esters will be formed when ___________ 
a. Alcohol reacts with carboxylic acid 
b. Alcohol reacts with dilute sulphuric acid 
c. Carboxylic acid reacts with a base 
d. Alcohol reacts with an aldehyde 

 
VIII. Answer the following questions:-                                                                4 x 1 = 4 

16. Name the acid present in tamarind juice. 
17. Which one of the following is a combination reaction? Why? 

a. Combustion of coal 
b. Heating Calcium carbonate. 

18. Write the balanced chemical equation for the following statement given below. 
“When Magnesium metal reacts with hydrochloric acid a salt of magnesium chloride is formed with 
the liberation of hydrogen gas” 

19. Name the following compound and write its molecular formula  
 

IX. Answer the following questions:-                         3 x 2 = 6    
20. Draw the diagram to show that acid solution in water conducts 

electricity and label the battery. 
21. Draw the diagram to show the action of steam on a metal. Label Glass Rod soaked in water. 
22.  How is calcination different from roasting? Metal carbonate ores are converted to their oxide ores 

during the process of their extraction. Why?  
OR 

 “Solder is essentially used during the welding of electrical wires together”. Why? Write the components of 
solder. 
 

X. Answer the following questions:-                                                                 3 x 3 = 9 
23. Explain the preparation of bleaching powder with chemical equation supporting it. Write any two 

uses of bleaching powder. 
                                                   OR 
Which chemical substance is the tooth enamel made up of? What is the reason for tooth decay? How 
can it be prevented. 

24. Molecular formula of the first member of a group of carbon compound is 𝐶𝐻3𝑂𝐻. If the members of 
the group are in homologous series. Write the name and molecular formula of the third member. 
Write the common name of this group. 

25. The brown colour of the copper powder on heating in a china dish turns black. How can we reverse 
the black colour of copper powder to brown? Identify the type of chemical reaction and Write its 
chemical equation. 
 

XI. Answer the following question:-                                                                    1 x 4 = 4 
26. a) State modern periodic law. 

b) Atomic number of aluminium is 13. Find its valency. 
c) How does the atomic size varies down the group? Give reason 
 

PART C: BIOLOGY 
 



XII. Four alternatives are given for each question .Choose the most appropriate answer and write 
it down with it’s alphabet given:-                                    2 x 1 = 2 

27. The life processes in humans are controlled and regulated by ________ 
a. Reproductive & Endocrine system. 
b. Respiratory & Nervous system. 
c. Endocrine & digestive system. 
d. Nervous & Endocrine system. 

28. Ahars, Kattas, Bhundhis and Khadins are the modes of _________ 
a. Grain Storage          b. Water harvesting 
c.  Soil conservation    d. Cold storage 

 
XIII. Answer the following questions:-                                                                   2 x 1 = 2 

29. Why fertilisation cannot take place in flowers if pollination does not happen? 
30. List two causes of pollution of river ganga. 

XIV. Answer the following questions:-                                                                   2 x 3 = 6 
31. How do you support the statement“ Pancreas is the overall controller of the blood sugar levels in the 

body” 
32. What are the methods used by the plants to get rid of the excretory products? 

                                                     OR 
Mention the importance of transpiration in plants? 

33. A group of grasshoppers some green and some brown lived in a grass land having dry bushes and dry 
grass. 
a) Which one would normally be picked up by the predatory birds? Why? 
b) Name the phenomenon 

 
XV. Answer the following questions:-                                                                   3 x 3 = 9 

34. What is ozone? How it is formed in the atmosphere? How does it affect our eco system. 
35. State one function of each of the following hormones 

a. Auxin         b. Cytokinin            c. Abscisic acid 
                                          OR 
(a) Name one gustatory receptor and one olfactory receptor in human beings. 
(b) Write a and b in the given flow chart of neuron through which information travels as an 

electrical impulse. 

 
36. A tall pea plant with red flowers (TtRr) is self pollinated. Represent the plants obtained in 𝐹2 

generation with the help of checker board. Write the ratios of phenotype in 𝐹2 generation. 
 

XVI. Answer the following questions:-                                                                   2 x 4 = 8 
37. Draw the diagram showing the vertical section of human heart and label the following. 

a. Left ventricle                b. Pulmonary artery 
38. a) “It is a matter of chance whether a couple will have a male/female child”. Justify this statement. b) 

What are fossils? What are the two methods of determining the age of the fossil. 
                                                    OR 
a) “Evolution and classification of organisms are interlinked”. Give reasons to justify this 

statement. 
b) “An individual cannot pass on to its progeny the experiences of its life-time”. Justify the 

statement with the help of an example and also give reason for the same.  
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b. Ampere     
c. A permanent magnet to rotate the armature 
a. Carbon dioxide  
a. More than one 
 

 
Material ‘A’ is the good conductor because it has lesser resistivity compared 
to material B 
         
When the direction of the current is at right angle to the direction of the 
magnetic field.         
              
 
a. ease and cost of extracting energy 
b. efficiency of the technology for extracting energy from the source 
c. environmental impact of using the source (any two)   
  
* The image distance in the eye remains the same because the eye has power  
   of Accommodation.                               
*   Lens can adjust its focal length depending upon the object distance. 
 
The radius of curvature (R) of the mirror = 30cm 

 Distance of the object = -20cm 

 Height of the object h= 5cm 

 Focal length f=R/2 = 30/2=15cm.      

            1/v + 1/u = 1/f 

 1/v = 1/f – 1/u        
   

1/v = 1/15 – 1/-20       
   

V=8.57 cm        
               
Image is virtual and erect and formed behind the mirror. size is diminished 
  

OR 
 

U= -27cm f= +15cm 
V= ? 
1/v = 1/f – 1/u  
1/v= 1/15 – 1/ -27       

 1/v = 14/135        
  1/2 

V= 135/14= 9.64 
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1/2 
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  Size of the image is diminished. 

              Image is formed behind the mirror 4 virtual    
 

 There is no atmosphere in the space to scatter light. Therefore sky 
appears dark.      

 Sunlight travel relatively shorter distance at noon 
 Only a little blue color is scattered  

OR 
 

 One prism is kept upright 
 When while light is passed through the prism, white light is split 

into seven Colours 
 Another prism is kept inverted infront of the first one 
 Seven colours enter into the second prism and emerge out as a 

white colour 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Image is of the same size of the object inverted and red 
  
 
Rs = R1+R2+R3+R4 

     =4Ω+8Ω+12Ω+24Ω 
    = 48Ω    
 
1   =  1   +   1  +  1  +  1 
Rp     R1      R2    R3    R4 
 
= 1    +   1   +  1  +  1 
   4         8       12    24 
 
= 6 + 3 + 2 + 1 
           24 
 
1  =  12   = 2 Ω 
R      24 
R = 2Ω 
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VI 
13 
 

b)The resistance of the heating element is very high where as resistance of 
the cord is less. 
 
 

a) Current in the coil ABCD enters from the battery through 
 Brush X and flows back to battery through brush Y. 
 Current on Arm AB flows from A to B and in CD C to D. 
 According to Flemings left hand rule AB is pushed downward 

and CD upward 
 At half rotation splitring ‘Q’ makes contact with brush X and Y 

with brush Y.  
 Current in the coil get reversed. 
 Therefore, Arm AB is pushed upward and CD downward. 
 Reversing the current is continued at every half rotation giving 

rise to continuous motion of the coil and axle. 
 

b) The split ring acts as commutators.                          
                                                   

1 
 
 
 

½  
½  
½  
 

½  
 

½  
½  
1 
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                                                           PART –B CHEMISTRY 

                                                             KEY ANSWERS  

Qn . Nos                                                    Value points                                                                              Total 

VII     Four alternatives are given for each question. Choose the most appropriate 
   answer and write it down with its alphabet given .                               2×1=2 

14.    c) Al2O3                                                                                                                                           1                                                                                                                                                                                                                                                                                                                              

15.    a) Alcohol reacts with carboxylic acid                                                                                           1 

VIII   Answer the following questions:-                                                       4×1=4 

16.    Tartaric acid                                                                                                                                    1 
17.    a) Combustion of coal is a combination reaction because coal combines with oxygen 
         to  give   Carbondioxide.                                                                                                                1 
18.    Mg +2 HCl                        MgCl2 + H2                                                                                           1                                                                                                       
19.    Butanal                                                                                                         ½ 
         C3H7CHO                                                                                                      ½                               1 
IX     Answer the following questions:-                                                            3×2=6                                                       
20.        

                                            Diagram 1 ½   + Labelling  ½                      2 

21                                                                         

                     

                                                                                         
                                                                                              Diagram 1½ + Labelling ½                         2 
                    



 

Qn . Nos                                                             Value points                                                                    Total 

     22. 

       

 

                                                                

                                                                                                                                                   1              

     It is easier to obtain a metal from its oxide, as compared to its carbonate.                   1             

                                                                         OR 
            Solder has a low melting point.                                                                                     1      
            Components of Solder- Lead and Tin.                                                                           1              2 
                                                                         
X        Answer the following questions:-                                                                 3×3=9 
23.      Bleaching powder is produced by the action of chlorine on dry slaked lime.             1 
                                   Ca(OH)2 + Cl2                       CaOCl2 + H2O                                         1 
           Uses of Bleaching powder: 
           i) for bleaching cotton and linen in the textile industry. 
           ii) for bleaching wood pulp in paper factories 
           iii) for bleaching washed clothes in laundry                                
           iv) as an oxidizing agent in many chemical industries 
           v) to make drinking water free from germs.                                   (Any two)    ½ + ½              3 
                                                                          OR  
           Calcium hydroxyapatite.                                                                                             1                                                                                                               
           Tooth decay is caused when the PH in the mouth is below 5.5.                                 1 
           It can be prevented by using toothpastes which are generally basic.                        1 
24.      Propanol                                                                                                                      1                                                  
           C3H7OH                                                                                                                       1                  
           Alcohol                                                                                                                        1                 3 
25.      By passing Hydrogen gas over it.                                                                               1 
           Redox reaction                                                                                                            1 
           CuO + H2                                        Cu + H2O                                                                         1                 3 
XI       Answer the following questions :-                                                             1×4=4 
 26.     a) “ Properties of elements are a periodic function of their atomic number”.         1 
           b) Valency of Aluminium = 3                                                                                    1 
             c)  The atomic size increases down the group.                                                         1 
                 This is because new shells are added as we go down the group. This increases the     
                 distance between the outermost  electrons and the nucleus.                                1                    4       

                                          ************************** 

            Calcination                Roasting 

The process of heating the  
Carbonate ore strongly in 
limited air. 

The process of heating the 
Sulphide  ore strongly in  the 
presence of excess air. 



                                                                                    SCIENCE MODEL PAPER-2 

                                                                PART-C (BIOLOGY)  KEY ANSWERS 

Q.No Value points Marks 
XII 
 
27) 
 
28)    
 
XIII   
 
29 )    
 
30)   
 
 
 
 
XIV 
 
31) 
 
 
 
 
 
32) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
33) 
 
 
 
 
XV 
 
34) 
 

Multiple choice questions                                                                                         (2X1=2) 
 
d) Nervous and endocrine system 
 
b) Water harvesting 
 
Answer the following questions                                                                               (2X1=2) 
 
Because pollination helps in transfer of pollen grains onto the stigma. 
 

• Industrial waste                                                                                                            1/2 
• Agriculture                                                                                                                   1/2 
• Human activities 
• Sewage                                                                                                             (any two)       

 
Answer the following questions.                                                                              (3X2=6) 

 
• When sugar level rises in blood, pancreas secretes more insulin to reduce sugar level.1                                                                                                                   

 
• As the blood sugar level falls, insulin secretion reduces to maintain the sugar level.    1                                                                                                                                                                    

 
 
 

• Waste products may be stored in leaves that fall off.                                                  ½ 
 

• Many waste products are stored in cellular vacuoles.                                                  ½ 
 

• Excess water can be removed through transpiration.                                                  ½ 
 

• Some wastes may be stored as resins and gums in old xylem.                                    ½ 
 
 
                                       Or 

• Helps in absorption and upward movement of water and minerals from roots 
 to leaves.                                                                                                                        1                                                                                                                          

• Temperature regulation                                                                                                  1 
 

 
a) Green beetles would be easily picked up by the birds as they are clearly visible on dry 

brown bushes.                                                                                                                1 
b) Natural selection                                                                                                            1   

 
 
Answer the following questions                                                                                ( 3X3=9) 
 

• Ozone is a molecule formed by three atoms of Oxygen(O3)                                          1 
• UV rays split oxygen molecule into free Oxygen atoms which combine with oxygen 

 
 
1 
 
1 
 
 
 
1 
 
 
 
 
1 
 
 
 
 
 
 
2 
 
 
 
 
 
 
 
 
  
 
 
 
 
 
 
2 
 
 
 
 
2 
 
 
 
 
 
 



 
 
 
35)    
 
 
 
 
 
 
 
 
 
 
36) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
XVI     
 
37) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

molecule to form Ozone (O3)                                                                                         1 
• It shields the surface of the earth from UV radiations from the sun.                              1 

 
• Auxin: Helps the cells to grow longer                                                                            1 

 
• Cytokinin: Promotes cell division                                                                                   1 

 
• Abscisic acid: Inhibits growth/ wilting of leaves                                                           1 

 
                                             Or 

a) Tongue and nose                                                                                                            1 
b) A ->  Cellbody                                                                                                               1 

B->   Axon                                                                                                                     1 
 
 
game
tes 
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TTRr TtRR TtRr 
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                                                                                                                                                  2        
           9:3:3:1                                                                                                                            1 
  
Answer the following questions                                                                                ( 2X4=8) 
 
 
 
 
 
 

      diagram- 3 marks,   each part-1/2 
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4 
 
 

Pulmonary artery 

Left ventricle 



 
38)           
 
 
 
 
 
         
 
 
 
 
                
 
 
 
 
 
 

 
a)  * A male produces two types of spermsX  and Y, while female produces only one 

typeX .                                                                                                                            1 
When a sperm carrying X chromosome combines with ovum, child will be a girl, and 
if sperm with Y chromosome combines with ovum, child will be a boy.                      1  
                                                                                                            

 
b) Preserved traces of living organisms are called fossils.                                                1 

 
Relative method and carbon dating                                                                                1 

 
                                            Or 

a) Evolution is based on similarities and variations between two species/organisms                
More closer the characteristics, more closer is the evolution and chances to be in the 
same group of classification.                                                                                        2  
 

b) The traits acquired during the lifetime of an individual don’t change the genetic 
material. If the tails of the parent mice is cut through surgery their off spings will be 
having tails.                                                                                                                   2                                                                            
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MODEL QUESTION PAPER-3 
PART-A  PHYSICS 

I. Four alternatives are given for each of the following questions /incomplete statements. Choose the 
correct alternative and write the complete answer along with its letter of alphabet.                                                                                                                       
2 x 1 = 2 
1.The Refractive indices of four medium P,Q,R And S Are 1.44, 1.47, 1.33     
    and1.22 respectively The velocity of light is maximum in. 
       a) medium Q       b) medium S      c) medium R      d) medium   P 
2. The term “accommodation” as applied to eye is ability to 
       a) control the amount of light entering retina 
       b) erect the image formed on retina 
       c) vary the distance between lens and retina 
       d) vary the focal length of the lens 
II. Answer the following Questions :                                                                       3x 1 = 3 
3. Mention the S.I. unit of Resistivity. 
4. State the Right hand thumb rule. 
5. Find the focal length of lens if its power is +2.0 D 
 
III. Answer the following Questions :                                                                     3 x 2 = 6 
6. Draw the diagram of simple electric generator, Label the following parts: 
    a) Rings           b) Brushes                             OR 
    Draw the diagram of simple electric motor, Label the parts.    
7. The focal length of a convex lens is 8 cm, If an object is placed at a distance 
     of 12 cm from the lens, then find the position of image. 
8. What is Atmospheric refraction ? “planets do not twinkle” why ? 
                      
IV. Answer the following Questions :                                                                    3 x 3 = 9 
9. In the circuit given bellow, find 

                        
a) Effective resistance in circuit   b)Total current in the circuit 
c)  Current through 10  resister 

OR 
     An electric heater draws current of 10A from 220 V supply. Find the cost of 
     using heater for 3 hours everyday for 30 days , if the cost of 1 KWh is Rs 
     5.20 ? 
10. Draw ray diagram to show the position of image formed by a concave  
      mirror if the object is placed between principal focus and center of 
      curvature. Write the nature of image so obtained. 
11.A certain form of energy is available due to difference in temperature of    
      water at surface of ocean and its deeper level. 
      a) Name the form of energy. 
      b) Explain how this form of energy can be converted to electricity. 

OR 
     ‘To generate hydroelectricity by constructing dams on GANGA river is of 
       lot opposition’ Justify the statement with atleast any three reasons. 
 
 
V. Answer the following Questions :                                                                          4 x 2 = 8 
12. a) Define the term Resistence. 
      b) Mention the factors on which resistance depends upon. 



      c) what happens to resistance if diameter of wire is halved ? 
13. Explain Faraday’s method to demonstrate Electromagnetic induction by 
      using coil  and bar magnet. 
 

PART-B CHEMISTRY 
VI. Four alternatives are given for each of the following questions / 
    incomplete statements. Choose the correct alternative and write the   
    complete answer along with its letter of alphabet.                                               2 x 1 = 2 
14. Exothermic reaction among the following is, 
        A) Silver chloride turns grey on exposure to sun light 
        B) Break down of glucose to carbon di oxide 
        C) Brown fumes appears on heating lead nitrate 
        D) water forms hydrogen and oxygen on passing electricity 
15. Periodic law based on ‘atomic number’ is 
        A) modern periodic law                  B) Mendeleev’s periodic law 
        C) Newland’s periodic law              D) Dobereiner’s periodic law 
 
VII. Answer the following Questions :                                                                      1 x 1 = 1 
16. What is catenation ? 
VIII. Answer the following Questions :                                                                     2 x 2 = 4 
17. Draw a diagram for the arrangement of apparatus to show that acid solution 
      conducts electricity and label dilute HCL solution. 
18. copper sulphide and zinc carbonate ores are given, mention the method of   
       extracting copper and zinc from their ores. Write the differences. 
IX. Answer the following Questions :                                                                         3 x 3 = 9 
19. Write the balanced chemical equations for the following reactions and 
       identify the type of reactions. 
    a) Magnesium + hydrogen chloride                  Magnesium chloride +hydrogen 
    b) Hydrogen   +   Nitrogen                   Ammonia 
 
20. Mention the substances elements liberated at cathode and anode during 
      chlor-alkali process. When the element liberated at anode is made to react 
      with slaked lime ? list any two uses of their product. Name the product 
      Obtained.                                      OR 
       Name the products  obtained when sodium hydroxide reacts with 
       hydrochloric acid. what is the name of this reaction ? name the ions 
       generated from the above  reactants when they react with water..  
      To get rid of the  pain and irritation caused due to indigestion, doctors 
      suggest milk of magnesia and not sodium hydroxide . why? 
21. Explain  the  reaction of following  metals with water, and represent it with 
       balanced equation (a) Potassium        (b) Magnesium       (c) Aluminium. 
X. Answer the following Questions :                                                                          4 x 1 = 4 
22. Observe the given table ,answer the following questions  giving appropriate  
       reason. 
                       

     Group 
Period 

2 14 16 17 

2 A    
3  B  C 
4 D    

       (i) State whether B is a metal or non – metal. 
       (ii) which one has more atomic radius? 
       (iii) among A& D which element is less reactive?  
       (iv) what is the valaney of C?  

OR 



           The table shows the relative position of the elements A, B, C, D in the 
             periodic table. 
                      

Group 1 Group 16 Group 17 
- - - 
D A - 
- C B 

            i) Which elements are metals among them? 
            ii) Which element has highest atomic size among them and why ?  
            iii) Which type of ion is produced by the element A? 
  
XI. Answer the following Questions :                                                                       5 x 1 = 5 
23.   i) Write  the electron dot structure of methane. 
        ii) Name the products obtained when methane undergoes complete combustion 
      iii) Explain esterification. How are soaps produced ? Explain its action on dirt. 
 

PART-C BIOLOGY 
XII. Four alternatives are given for each of the following questions / 
    incomplete statements. Choose the correct alternative and write the   
    complete answer along with its letter of alphabet.                                              4 x 1 = 4 
 24. Stages of photosynthesis are given below. 
        i) Conversion of water molecules into Hydrogen and oxygen  
       ii) Absorption of light energy by chlorophyll  
      iii) Conversion of light energy into chemical energy  
      iv) Conversion of  CO2 into carbohydrate  
          Proper sequence of these stages among the following is 
         a) i – ii – iii – iv                                  b) i-iii-ii-iv                
         c) ii – iii – i – iv                                  d) ii- iii – iv – i 
 
25. Which among the following processes is not a cause for speciation? 
       a) Mutation                                            b) Genetical drift   
       c) Natural selection with gene flow       d) Change in asexual factors 
26. The figures given below show different types of reproduction. The figure 
       which does not belong in the group is 

     
27. Fill the blank in the second pair of words by considering the relation of first  
       pair of words Auxin : Elongation of cells : : Absisic acid : _______  
         a) Inhibits growth                          b) Stimulate cell division  
         c) Plant bends towards light          d) Helps in the growth of stem 
 
XIII. Answer the following Questions :                                                                      4 x 1 = 4 
28. Name an organism which reproduce through binary fission ? 
29. How do we estimate the age of fossils through relative method ? 
30. Arteries have thick elastic walls when compared to veins. Why? 
31. How is the sex of the child determined in human beings? 
 
XIV. Answer the following Questions :                                                                      2 x 3 = 6 
32. Two green plants are taken in oxygen free containers. One is kept in dark 
       and the other is kept in sunlight. Which one can live long? Why? 



OR 
       Write the methods of excretion in plants. 
33. Which hormone is responsible for making our body ready to face 
       emergency? Where is it produced? 
34. “Forests are blessing boons of the tribal and villagers” justify along with 
       Reasons. 
 
XV. Answer the following Questions :                                                                        3 x 3 = 9 
35. 

                                 A                         B 
 a) Name the disorder which can arise by the deficiency of the hormone secreted  
          by the gland labelled as ‘A’ in the above figure.  
 b) Which is the important component of the hormone secreted by the gland 
           labelled as ‘B’ in the above figure?  
  c) What is the important role of the hormone secreted by gland ‘B’ in the 
       figure? 
36. Write a neat labeled diagram to show the germination of pollens on stigma. 
37. In a classroom teachers says “evolution of feathers had nothing to do with 
       flight”. Can you agree teachers statement? Explain. 

OR 
 
       Biologists do not agree that ‘Humans are evolved by Chimpanzees’ . Why? 
 
XVI. Answer the following Question :                                                                      4 x 1 = 4 
 
38. Write a neat diagram to show the structure of section of human heart and  label the following parts.         
   a. Aorta                         b. Pulmonary artery 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



SCIENCE QUESTION PAPER 

SET:3  

PART A: PHYSICS 

Key Answers 

 

Qn.Nos  Total 

I 

1. 

2. 

 

II 

3. 

4. 

 

 

5. 

 

 

 

 

6. 

 

 

7. 

 

 

 

B) medium S.         

C) Vary the distance between the lens and retina.            

     

 

ohm metre.   

Imagine a current carrying a straight conductor in a right hand such that 
thumb points towards the direction of the current.                                                  
Fingers around the conductor shows the direction of magnetic field lines. 

 

P=1/f                                                                                                                         

   2=1/f                                                   

   f=1/2 

   f=0.5m; 50cm                                                                                                            

              

Diagram  

Label the parts 

  

f=8cm ; u= -12cm ; v=? 

     1/v - 1/u = 1/f     

     1/v - 1/-12= 1/8 

 

1 

1 

 

 

1 

1/2 

½ 

 

½ 

 

 

½ 

 

1 

1 

 

 

1/2 

 



 

 

 

 

 

 

8. 

 

 

 

IV 

9. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

     1/v +1/12= 1/8 

     1/v= 1/8 - 1/12 

     1/v= (3-2)/24  

     1/v= 1/24                                                                                                                    

=> V= 24cm.      

   

The refraction of light caused by earth's atmosphere having air layers of 
different densities is called atmospheric refraction.      

The continuously changing atmosphere is unable to cause variation in 
light coming from big sized planet, because of which planets do not 
twinkle.       

 

(i) Total resistance in parallel= 1/R1+ 1/R2 + 1/R3 

                                                       1/5 + 1/10 +1/30 

                                                      = (6+3+1)/ 30 

                                                      = 10/30 

                                                      =1/3 

       =3ohm. 

(ii) I= V/R 

      I= 6/3 

      => I= 2A   

 

(iii) I= V/R 

       I= 6/10 

       I= 0.6A flows through 10ohm resistor.          

OR 

P= V x I 

P= 220 x 10 

 

1 

 

 

½ 

 

1 

 

1 

 

 

 

 

1 

 

 

 

 

1 

 

 

 

1 

 

 

 



 

 

 

 

 

 

 

 

 

10. 

 

 

11. 

 

 

 

 

 

 

 

 

 

 

 

V 

12. 

P= 2200W  

Or 

P= 2.2Kw           

Total electrical energy consumed in 30 days= 2.2 x 3 x 30 

                                                                     E = 198 Kwh        

Cost of one unit= Rs. 5.20 

Cost of 198 units= 5.20 x 198 

                           = Rs. 1029                                                                                           

                                                                                                                                                

Diagram 

Nature of the image     

 

(a) Ocean thermal energy    

(b) Ocean thermal energy plants can operate in difference in temperature 
of water at surface level and deeper levels.     

The warm surface water is used to boil volatile liquids like ammonia. 

The vapours are then used to run turbines of generators to produce 
electricity. 

                                                       OR 

Construction of dams on the rivers has certain problems with it: 

(i) Large area of the agricultural land and human habitations might get 
submerged.    

(ii) Destruction of large eco-system.                                                                               

(iii) Vegetation in submerged in water, due to anaerobic conditions gives 
rise to methane gas, causing greenhouse effect.       

 

 

(a) Obstruction of the flow of electrons is called resistance.   

 

1 

 

 

1 

 

1 

 

 

2 

1 

 

½ 

1 

 

1 

½ 

 

 

1 

1 

1 

 

 

 

1 



 

 

 

 

     

 

13. 

 

 (b) Resistance depends upon: 

         - length of the wire 

         - area of cross-section of the wire. 

         - nature of the material     (any two) 

(c) Resistance increases 4 times.   

                                                                                  

* Take a bar magnet and push inside the coil. 

      Galvanometer shows the deflection indicating the presence of 
current.                   

      * When magnet is removed from the coil, the galvanometer shows 
deflection 

in opposite direction due to the flow of current.    

* When both magnet and coil are at rest, no deflection is observed.                        

* When there is a relative motion between magnet and a coil, electricity 
is produced.   This shows that, magnetism produces electricity.                                                                                                
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SCIENCE QUESTION PAPER  

SET : 3 

Part B : CHEMISTRY 

Key Answers 

VI  

14 B) breakdown of glucose to carbon dioxide 1 
15 A) Modern periodic law 1 
VII 

16 The unique property of carbon to form long chain compound with other 
carbon atoms 

1 

VIII 

17 Drawing : acid solution in water conducts electricity 1 ½ 
 
½ 

2 
18 Copper sulphide : by Roasting 

Zinc carbonate : by Calcination 
Roasting is the process of heating the sulphide ores  strongly in the presence 
of excess oxygen to form oxides. 
Calcination is heating the carbonate ores in strongly in the limited air. 

½ 
½ 
½ 
 
½ 

2 
IX 

19 a) Mg + 2 HCl ---------→ MgCl2 + H2 
Oxidation reaction 
 

b) H2 + N2 ----------→ NH3 
Combination reaction 

1 
½ 
 
1 
½ 

3 
20 Hydrogen at cathode 

Chlorine at anode 
Bleaching powder is formed. 
Uses of bleaching powder: 

1. For bleaching cotton in linen and textile industry 
2. Bleaching wood pulp in paper industry 
3. Bleaching washed clothes in laundry 
4. As an oxidizing agent in many chemical industries 
5. To make drinking water free from germs      (any two uses) 

 
OR 

 
Sodium chloride and water. 
Neutralization reaction. 
When hydrochloric acid is dissolved in water it forms hydronium ions 

½ 
½ 
1 
½ 
½ 
 
 
 

3 
 
 
 

1/2+½ 
½ 
 



(H3O+) 
Hydroxide ions are formed when sodium hydroxide is dissolved in water. 
Sodium hydroxide is a strong base, whereas magnesium hydroxide is a mild 
base which helps to neutralize excess acid in the stomach. 

½ 
½ 
 
½ 

3 
 

21  
(a) 2K + H2O ------→ KOH + H2 

Potassium reacts with cold water to form potassium hydroxide and hydrogen 
gas is liberated. 
 

(b) Mg + 2H2O ----→ Mg(OH)2 + H2 
Magnesium reacts with hot water and forms Magnesium hydroxide, 
during this process Hydrogen gas is liberated. 
 

(c) 2Al  +3 H2O ---→ Al2O3 + H2 
Aluminium reacts with steam to form Aluminium oxide, and liberates 
Hydrogen gas. 

 
½ 
½ 
 
 
½ 
 
½ 
 
½ 
½ 
 

3 
 

   
X 

22 (i) B is a metalloid, because its valency is 4 and it forms covalent 
bond when it reacts with other elements. 

(ii) D, because it is in 4th period, and has 4 shells. 
(iii) D is more reactive, because it has more atomic radius. 
(iv) Valency of C is 7 or 1, because its combining capacity is 1 

 
OR 

 
(i) D, as it is in group 1, it readily donates/ loses one electron. 
(ii) C, its atomic size is greater than B because atomic size 

decreases across the period. 
(iii) Anions, because its combining capacity is 2 
(iv) Valency of A is 2 

1 
 
1 
1 
1 

4 
 
 

1 
1 
 
1 
1 

4 
XI 

23 (i) Electron dot structure of methane : Fig 4.5 
(ii) Carbon dioxide and water 
(iii) When carboxylic acid reacts with alcohol, ester is formed. This 

process is called esterification. 
(iv) When esters are made to react with sodium hydroxide, they 

form alcohol and sodium salts of carboxylic acids, which are 
nothing but soaps. 

The sodium end of the soap reacts with water and carbon chain of the 
soap reacts with dirt and forms micelles by emulsifying with water. 
Thus the micelles pull out the dirt. 

1 
1 
1 
 
1 
 
 
1 
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CODE: 83-E (BIOLOGY) 

MODEL ANSWERS 

Set-3 

PART-C 

Qn 
No: 

VALUE POINTS TOTAL 

 XII 
 
24 
 
 
 
 
 
 
 
 
 
 
 
25 
 
 
 
 
 
 
26 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
27 
 
 
 
 

Multiple Choice Questions:                                                                                4 × 1 = 4 
 
Stages of photosynthesis are given below. 
i) conversion of water molecules into Hydrogen and Oxygen 
ii) Absorption of light energy by chlorophyll 
iii) conversion of light energy into chemical energy  
iv) conversion of CO2  
   proper sequence of these stages among the following is  
        a)i-ii-iii-iv                     b) i-iii-ii-iv 

c) ii-iii-i-iv                     d) ii-iii-iv-i 
 
Ans:  
c) ii-iii-i-iv 

 
Which among the following processes is not a cause for speciation? 
        a)Mutation                                                        b) Genetic drift     
       c) Natural selection with gene flow               d) Changes in asexual factors 
 
Ans:  
d) Change in asexual factors 
 
The figures given below show different types of reproduction. The figure which 
does not belong to the group is  
 

 
Ans:  
 
b) 

  
Fill in the blank in the second pair of words by considering the relations of first 
pair of words      Auxin: Elongation of cells : : Abscisic acid: _______________ 
          a) Inhibits growth                           b) Stimulates cell division 
         c) plant bends towards light            d) helps in growth of stem 
Ans: a) Inhibits growth                            
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XIV 
 
 
32 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Answer the following Questions:                                                                    4 × 1 = 4 
 
Name an organism which reproduce through binary fission?  
 
Ans:  
Amoeba or Leishmania  
 
How do we estimate the age of fossils through relative method? 
 
Ans: Fossils which are found closer to the surface are more recent than the 
fossils which are found in deeper layers. 
 
Arteries have thick elastic walls when compared to veins. Why? 
Ans: Arteries carry blood away from the heart to various parts of the body. 
Blood emerges from the heart under high pressure, therefore arteries have 
thick and elastic walls. 
 
How is sex of the child determined in human beings?  
Ans: The female egg always has an X chromosome. So if the male gamete with 
the X chromosome fuses with the female egg, the child will be female (XX). 
Similarly, if the male gamete with the Y chromosome fuses with the female egg, 
the child will be male (XY). 
 
Answer the following questions:                                                                  2 × 3 = 6 
 
Two green plants are taken in oxygen free containers. One is kept in dark and the 
other is kept in sunlight. Which one can live long? Why? 
 
(OR) 
 
Write the methods of excretion in plants. 
 
Ans: 
The plant which is being kept in light would live longer because carbon dioxide 
shall be utilized during photosynthesis and Oxygen will be released, Whereas 
the plant which is being kept in dark, would die as there is no sunlight to 
perform photosynthesis and there will no release of oxygen. 
 
(OR) 
 
Ans: (any 4 points) 

• Plant releases oxygen as one of the waste products generated during 
photosynthesis.                                                                                             1/2 

• Through transpiration, plant removes excess water from its body.   1/2 
• Wastes are stored in cellular vacuoles and leaves that fall off.            1/2 
• Waste products are stored as resins and gums.                                      1/2 
• Plants also secrete some waste substances into the soil around them.  
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Which hormone is responsible for making our body ready to face emergency? 
Where is it produced?  
 
Ans: 
 Adrenaline hormone is responsible for making our body ready to face 
emergency. It is produced by the Adrenal gland                                      (1+1) 
 
“Forests are blessing boons of tribal and villagers” Justify along with Reasons. 
 
Ans:  
Tribal people and villagers are dependent on the forests for various products 
that are essential for the sustenance of their lives such as timber, medicinal 
plants, fibres for making clothes, fodder for cattle, various fruits and vegetables 
for nutrition. 
 
Answer the following Questions:                                                              3 × 3 = 9 

 
a)Name the disorder which can arise by the deficiency of the hormone secreted 
by the gland labelled as ‘A’ in the above figure. 
b) which is the important component of the hormone secreted by the gland 
labelled as ‘B’ in the above figure? 
c) what is the important role of the hormone secreted by gland ‘B’ in the figure? 
 
Ans: a) Dwarfism                                                                                                       1 
         b) Iodine.                                                                                                            1 
         c) it helps in the maintenance of metabolism of carbohydrate, protein and            
fat in our body                                                                                                            1 
 
Write a neat labelled diagram to show the germination of pollens on stigma. 
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38 

In a classroom teacher says “evolution of feathers had nothing to do with flight”. 
Can you agree teachers’ statement? Explain.  
 
(OR) 
 
Biologists do not agree that ‘Humans are evolved by Chimpanzees”. Why? 
 
Ans: yes, the statement given by the teacher is correct as the feathers evolved 
just to maintain body temperature in birds by providing insulation against 
extreme tempertature. But later the feathers were used by birds for flying as 
well inspite of those species having a light weight. Dinosaurs also had feathers 
and this was for insulation against cold and later used for gliding purpose. 
 
(OR) 
 
Because humans and chimpanzees would have had a common ancestor and 
evolved separately in two different ways. Thus, resulted in present day man and 
modern chimpanzees.   
 
 
Answer the following questions:                                                                  4 × 1 = 4 
 
Write a neat diagram to show the structure of section of human heart and label 
the following parts. 

a) Aorta                      b) Pulmonary artery 
 

 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
3 
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MODEL QUESTION PAPER - 4 

 
Part – A  PHYSICS 

I.Four alternatives are given for each of the following question/incomplete statements. Choose the 
correct alternative and write the complete answer along with its letter of alphabet.                                                                                                                         
3 X 1 = 3 

1. The device to detect the flow of charges in an electric circuit 

a) Voltmeter  b) Rheostat  c) Galvanometer d) Commutator 

2. The focal length of a convex lens is 2 meters. Its power is ……… 

a) 2D  b) -2D  c) 0.5D d) -0.5D 

3. A person is advised to use convex lens as remedy to his eye defect. He is suffering from……. 
a) Myopia b) Hypermetropia c) Cataract d) Night Blindness 

II.Answer the following questions                          2 X 1 = 2 

4. Tungsten is used in electric bulbs. Why? 

5. Mention one difference between convex lens and concave lens. 

III.Answer the following questions                           3 X 2 = 6 

6. A concave lens of focal length 15 cms forms an image 10 cms from the lens. How far is the object placed 
from the lens? 

7. Mention the factors on which resistance of a conductor depend?   

OR 
Define the term resistivity. Write its unit. 

8. Draw a neat diagram of DC Motor and label the following parts. 

i) Split rings ii) Carbon brushes 

IV.Answer the following questions                            3 X 3 = 9 

9.Draw a ray diagram showing the image formed by concave mirror when the object is placed between F 
and C. Write the nature and size of the image. 

10.Three resistors of 2Ω, 3Ω and 5Ω are connected in an electric circuit. Calculate. 

i) Maximum effective resistance 
ii) Minimum effective resistance 

OR 

Calculate the resistivity of a metal of length 2 meters at 20oC having the resistance of 20Ω and 
diameter of 0.3mm 

11.Name any three forms of energy of the oceans which can be converted into usable forms of energy. 
Describe how it is done in each case.         OR 

Explain the principle of working, advantages and disadvantages of using a solar cooker. 

V.Answer the following questions                                     2 X 4 = 8 

 12.Give scientific reasons. 

i) Sky appears blue  ii) Stars twinkle iii) Clouds appear white   iv) Danger signals are made of 
red colour. 

13.Explain the phenomenon of Electromagnetic induction with the help of an activity. Mention the factors 
on which induced EMF in a coil depend. 



PART B – CHEMISTRY 

VI.Four alternatives are given for each of the following question/incomplete statements.Choose the 
correct alternative and write the complete answer along with its letter of alphabet.                                                                                                         
3x1=3  

14. The gas used in chips packets for preventing oxidation is _________ 

 a) Nitrogen b) Oxygen c) Hydrogen d) Helium 

15. Milk of Magnesium is ___________ 

a) Magnesium Oxide b) Sodium Hydroxide  

c) Potassium Hydroxide d) Magnesium Hydroxide 

16. The functional group present in the given carbon compound CH3COOH is _____ 

 a) Alcohol b) Aldehyde c) Carboxylic acid d) Ketone 

VII. Answer the following questions                                   3X1 = 3 

17. What is Calcination? 
18. Find the number of Neutrons in 11Na23. 

19. A B Name the parts A & B in the given figure. 
 Micelle 
 

VIII. Answer the following questions                                   3x2 =  6 

20. Write any two limitations of mendeleev’s periodic law. 
    OR 

An atom has an electronic configuration 2,8,7 
 Then a) Name the element 
 b) Is the element a metal or non metal 
21. Balance the following chemical equations 

  a) BaCl2 + H2SO4 → BaSO4 + HCl 
  b) HNO3 + Ca(OH)2 → Ca(NO3)2 + H2O 
 
22. Draw the diagram showing the conduction of electricity in acid  

solution in water. 

IX. Answer the following questions                                                        3X3 = 9 

23. What are structural Isomers? Write the structure of n-Butane andIso Butane.    
  OR 

Explain with equations when ethanoic acid reacts with carbonate and   Hydrogen    carbonate 

24. Draw the diagram showing the action of steam on a metal. 
25. Give scientific reasons 
a) Why does tooth decay start when PH of  mouth is lower  
than 5.5? 
b) Sodium hydrogen carbonate is also an ingredient in antacids. 
c) Bleaching powder is used in paper factories. 
 
X. Answer the following questions                                   4 X 1 = 4 

26. a) Distinguish between physical properties of metals and non metals (any four) 

b) Write the formation of Magnesium Chloride (MgCl2) by the transfer of electrons.                                       
OR 

a) What are amphoteric oxides? Give 2 examples of amphoteric oxides. 
b) Name the constitutes of Bronze and Solder. 



                      PART –C      BIOLOGY  

XI. Four alternatives are given for each of the following question/incomplete statements. Choose the 
correct alternative and write the complete answer along with its letter of alphabet.                                                                                                                     
 2x1=2  

27.Consider the following food chain: Fish, Crab, Plankton and shark 

Adjust the upper organisms to the trophic level they belongs to  
a) Crab, Fish, Plankton, Shark 
b) Fish, Plankton, Crab, Shark 
c) Plankton, Fish, Crab, Shark 
d) Shark, Crab, Fish, Plankton 

 

28.Khadin, Nadis, Bundis, Ahar are ancient structures used for 

a) Water Storage   b) Grain Storage  c) Wood Storage  d) Soil Conservation  

XII. Answer the following questions.                     3 X 1 = 3  

29.How does ozone protect life on earth? 
30.List two items which can be easily recycled but we generally throw them in the dust bin. 
31.State two important uses of Dams. 

 
XIII. Answer the following questions.                       2 X 2 = 4  

32. An old man is advised by his doctor to take less sugar in his diet. Name the disease from which the man 
is suffering? Mention the harmone due to imbalance of which he is suffering from this disease. 

33. Write a diagram of germination of pollen on stigma. 

XIV. Answer the following questions.                                  3 X 3 = 9  
34a)  explain the terms: 

i) Implantation ii)  Placenta 
b) What is the average duration of human pregnancy? 

35 a) How does relative method help to determine the age of fossils? 

     b) Experiences of an individual during its life time cannot direct evolution. Why? 

     c) ‘Chromosomes inherited from the father determines the sex of a child’. Explain. 
    OR 
What are fossils? How do they help in the study of evolution? 

36. A green stemmed rose plant denoted by (GG) and a brown stemmed rose plant denoted by (gg) are 
allowed to under go a cross with each other. 

List your observations regarding 
i) Colour of stem in their F1 progeny 
ii) Percentage of brown stemmed plants in F2 Progeny if plants are self pollinated. 
iii) Ratio of GG and Gg in the F2 Progeny. 

XV. Answer the following questions.                          1 X 4 = 4  

37. Draw the diagram showing structure of human brain. Label the following parts 

a. Cerebrum  b. Cerebellum 

XVI. Answer the following questions.                          1 X 5 = 5  

38. a) State the role of the following in human digestive system. 

i) Pepsin       ii) Hydrochloric acid iii)Villi 

   b) State two differences between arteries and veins. 



SSLC EXAM 2023, MODEL ANSWER PAPER SET-04 
 

PART A- PHYSICS 
 

I                                                                                                                                         3x1=3 
MCQ           

1. C- Galvanometer 
2. C - 0.5D 
3. B – Hypermetropia 

  

 
 
1 
1 
1 

II                                                                                                                                         2x1=2 
4. Tungsten has high resistance  
 
5.           Convex lens         Concave lens 
    1) Thick at the center thin at the edges    1) Thin at the center thick at the  edges  
    2) Converging lens                                   2) Diverging lens 

                                                                                                                        (any one) 
 

   
 
 
 
1  

III                                                  3x2=6 
6.  
    f=-15cms          

V= - 10cms 
U =? 

  1 =1 -1                        
  f    v   u 
  1  =  1   -  -1    5| 15,10 
-15   -10      u                                                 3,2 
1  = 1 – 1 = 2-3                                          5x3x2=30 
U    15  10   30  
1= -1 
u   30 
                     u = 30cms   

Object is placed at a distance of 30cms from the lens,  

 
 
 
 
1 
 
 
1 

 (7) 
   (I)length of the conductor 

(Il) Area of cross section of the conductor 
(UI) Material of the conductor 
(IV) Temperature 
                        (OR) 
The resistance of a material of unit length and unit area of cross section is called 
resistivity  
Unit  ohm meter 

 

 
 
1 
1 
½x4 
 
 
1 
1 
 

8.                                                                                                                                Diagram- 
    D .C motor                                                                                                                   Parts- 

  
                      

2 
½+½ 

IV 
 

                                                                                                                                      3x3 =9 
9. Object between F & C  - Concave mirror  

 
 
2 
 



                          
Nature: Real inverted 
Size: enlarged 

½ 
½ 
 
 

 10.  
     R1 = 2Ω , R2= 3Ω , R3 = 5 Ω 

(i) Maximum effective resistance (Series connection) 
      RS = R1+R2+R3  

      =2+3+5=10 Ω        RS=10 Ω 
   
(ii)  Minimum affective resistance (parallel connection) 
 1  =  1  +  1   +  1 
   Rp    R1    R2    R3 
 

1   =  1  +  1   +  1 
Rp     2      3        5 

    
1   =  15+10+6   =  31  
Rp   30         30  

 
1         =    31 
Rp              30 

       
Rp  = 30 Ω  =0.97 Ω        Rp = 0.97 Ω  

                     31  
                                       (OR) 
 

 
ῥ=? L= 2m R =20Ω 
ῥ = RA   =  20X4950X10 -10 
       L                  2X7 

 
ῥ= 4950/7 X10-9 
         7 
ῥ = 707X10-9Ωm 
 

d =0.33 mm 
r = 0.33/2 mm = 0.15mm  =0.15/1000 m 
r = 15 x 10-5 m 
 
A = ∏r2 = 22/7 x (15 x10 -5)2 
  = 22/7 x 225 x 10-10 = 4950 / 7 x 10-10 
A = 707 x 10-10 m2 

 
 
½  
 
½ 
 
 
 
 
 
1 
 
 
1 
 
 
1 

 11)  
a) Wave energy 
b) Tidal energy 
c) Ocean thermal energy 
Waves carry lot of energy. Wave energy generators are installed where waves are strong to 
produce electricity 
Rise and fall of level of water due to gravitational force of sun & moon results in tides. 
Tidal energy can also be converted to electrical energy. 
The difference in temperature of ocean surface and cooler deep areas is used to produce 
electricity 

 
 
 
OR 
 

 
 
 
 
1 
 
1 
 
1 
 
 
 
 
 
1 



Solar cooker is a device to cook food using solar energy. 
Principle: Solar energy is concentrated by using plane mirror reflector to increase the heat 
energy, the food to be cooked is placed in metal container and kept inside a box, painted 
black to absorb light energy. The box is covered by transparent glass as it is a thermal 
insulator the increased heat cooks the food. 
Advantage: Saves conventional energy sources, Eco friendly. 
Disadvantage: Solar energy is not constant, takes more time to cook food. 
 

 
1 
 
½  
½  
 

V 12)                                                                                                                                 2x4=8 
 i) Due to scattering of light. Blue color has shorter wave length, hence scattered most.  
ii) Due to atmospheric refraction. 
iii) All the colours are scattered by clouds. Hence appears white.  
iv) Red colour is least scattered as it has longer wave length. 
 

 
1 
1 
1 
1 
 

 13) 
Whenever a magnet is inserted in a coil or taken out of the coil which is connected to a 
galvanometer, an EMF is induced in the coil. This is due to the change in magnetic field. 
This is called electromagnetic induction. 
Factors: 
i) Number of turns of the coil.           ii) Rate of change of magnetic field, 
 

                                           

  
2 
 
 
1 
 
 
 
1 

VI                                                       Part- B Chemistry                                  1x3=03 
MCQ  
14) a) Nitrogen 
15) d) Magnesium Hydroxide 
16) c) Corboxylic acid 

 
 
1 
1 
1 

VII 
 

                                                                                                                        1x3=03 
17) The carbonate ores are changed into oxides by  heating strongly in limited air   
18) 23-11 = 12 
19) A - Hydrophilic Head 

 B - Hydrophobic end      
 

 
1 
1 
1 

VIII                                                                                                             2x3=06 
20) a) No fixed position given to hydrogen in periodic table 

b) The atomic masses do not increase in a regular manner in going from  
 one element to the next 

c) Position of isotopes cannot be explained.                                
                                                            (any two) 

               
                       OR 

      a) Chlorine 
      b) Non-metal 
 

 
1 
1 
 
 
 
1 
1 

 21) a) BaCl2 + H2SO4 _________  BaSO4 +2HCl, 
      b) 2HNO3+Ca(OH)2:  ______  Ca(NO3)2+2H20 
 

1 
1 

 22) 
 

 
 
 
 



 
       Acid solution in water conducts electricity 

2 

IX                                                                                                                                      3x3=9 
23) Compounds with identical molecular formula but different structural are 
      called structural Isomers. 
Ех: - C4H2o             H 

             | 
H   H   H    H     H   H   H     
|    |    |     |      |     |     |    

       H -C  - C  - C  - C  - H         H -C  - C  - C  - H 
|    |    |     |      |      |      |    
H   H   H    H     H   H   H 
                  | 
N-Butane                                 H         ISO- Butane 

       OR 
23) Ethanoic acid reacts with carbonates and hydro Carbonates to give rise to a salt, carbon 
dioxide, and water. The salt produced is commonly called sodium acetate. 
a) 2CH3COOH + Na2CO3   →   2СН3СООNa+H2O+CO2 
b) CH3COOH + NaHCO3    →    CH3COONa+H2O +CO2 
 

 
1 
 
 
 
1 
 
 
1 
 
 
 
 
1 
1 
1 

 24)  

  
ACTION OF STEAM ON A METAL 

 
 
 
 
3 

 25) 
a) Tooth enamel made up of calcium hydroxyapatite. It corroded when the pH in the 
     mouth is below 5.5. 
b) Sodium hydrogen carbonate neutralizes excess acid in the stomach and provides relief. 
c) Bleaching powder is used for bleaching wood pulp in paper factories. 
 

 
1 
 
1 
1 

X                                                                                                                                         4x1=4 
26) (a)   Metals     Non metals   

 
1. Metals are lustrous    - Non metals are not lustrous 
2. Good conductors of heat & electricity  - Poor conductors of Heat & electricity 
3. Metals are sonorous    - Non metals are not sonorous 
4. Metals are ductile    - Non metals are not ductile 
5. Metals are malleable    - Non metals are not malleable 
6. Metals are hard                - Non metals are soft 

                                                   (any four) 
 
 
(b)  

 
 
½ 
½ 
½ 
½ 
 
 
 
 
 
 
 



 
 
OR 
 

a) Metal oxides which react with both acids as well as bases to produce salts and water 
     are known as amphoteric oxides. 
Ex:-  Aluminum oxide (Al203) 

 Zinc oxide   (Zno) 
 

b) Bronze ----------- Copper and tin ( Cu&Sn) 
     Solder -----------  lead and tin (Pb & Sn) 
 

 
 
2 
 
 
 
 
 
 
 
 
 
 
1 
1 
 
 
1 
1 
 
 

XI PART-C BIOLOGY                                        2x1=2 
27) c) Plankton, fish, crab, Shark 
28) a) Water Storage 

 
1 
1 

XII                                                                                                                                         3x2=6 
29) Ozone absorbs harmful ultraviolet radiations of the Sun. In this way, it protects 
       all living beings on earth 
30) Newspapers, tin cans 
31) - It helps in storage of water. 

- It helps in hydropower generation. 
 

 
1 
 
1 
1 
1 

XIII  
32) - Diabetes mellitus 

- Insulin hormone 
 

 
1 
1 

 33) 

 

 
 
 
2 

XIV 34)                                                                                                                                  2x3=6 
a) i) Implantation - Implantation is a process in which the embryo is embedded in the 
        lining of the uterus where they continue to grow and develop organs to become foetus. 
    ii) Placenta - The embryo gets nutrition from the mother's blood with the help of 
         a special tissue called Placenta. 
b) The development of the child inside the mother's body takes approximately nine months 

 
1 
 
1 
 
1 

 35)  
a) In relative method, if we find the fossils closer to the surface are more recent than the  
    fossils we find in deeper layers. Like this we estimate the age of fossils in relative 
method 

 
 
1 
 



b) Change in non-reproductive tissues cannot be passed on to the DNA of the germ cells. 
     Therefore the experiences of an individual during its life time cannot be passed on to its  
     progeny. 
c) All children will inherit an 'X' chromosome from their mother regardless of whether they  
    are boys or girls. A child who inherits an 'X' Chromosome from her father will be a girl,  
    and one who inherits a 'Y' chromosome from him will be a boy. 

OR 
 

a) Fossils are the remains or impressions of the dead animals and plants that lived in the  
    past. 
b) Fossils are the direct evidences in support of organic evolution. 
c) Fossils help in determining evolutionary relationships between organisms. 

 
1 
 
 
1 
 
 
 
 
1 
1 
1 

 36)  
I) Green stemmed rose plant 
II) 25% or ¼ 
III) Ratio of GG and Gg in the F2 progeny is 

GG : Gg 
1     :  2  

 
 
1 
1 
1 

XV 37)  

 

 

XVI 38) 
a) 
i) Pepsin -- → Pepsin enzyme digest the protein 
ii) Hydrochloric acid -- → The Hydrochloric acid creates an acidic medium which 
     facilitates the action of the enzyme pepsin 
iii) Villi -- → villi increases the surface area of absorption and helps in the absorption of  
       nutrients. 
b)       
                      ARTERIES      

• Arteries carry blood away from the 
heart to Various organs of the body    

• Arteries have thick elastic walls. 
• Arteries do not have valves 
• Blood flows in high pressure 

                       VEINS 
• Veins collect the blood from 

different organs and bring it back to 
the heart 

• Veins have thin walls 
• Veins have valves 
• Blood flows in low pressure 

                                                                 (any two)  

 
 
 
1 
1 
1 
 
 
 
 
 
 
1 
1 
 

 



 

 MODEL QUESTION PAPER-5              

PART-A   PHYSICS 

I. Four alternatives are given for each of the following questions/ incomplete statements. choose the 

correct alternative and write the complete answer along with its letter of alphabet.                                                                                                                            

2x1=2 

1. The gas responsible for greenhouse effect is 

A) carbon monoxide B) Nitrogen dioxide C) Sulphur dioxide D) carbon dioxide 

2. what is the potential difference marked on all Indian electrical appliances. 

A) 200v  B) 220v  C) 2200v  D) 2000v 

II. Answer the following questions.                                                                                   3x1=3 

3. The inner walls of a solar cooker are painted black, give reason. 

4.A coil of insulated wire is connected to a galvanometer what would be seen if a bar magnet with its North 

Pole towards one face of the coil is 

 

 

a.moved quickly towards the coil. 

5. Name the important chemical constituent of the biogas. 

III Answer the following questions.                                                                                    3x2=6 

6.Draw a neat diagram of resistor R1 R2 and R3 resistors connected in series with necessary connections.                                                  

OR 

Draw a neat diagram of electric circuit used for studying ohm’s law. 

7. Draw the ray diagram to show the formation of image by a convex lens when the object is kept between 2 

F1 and F1. 

8. list some of the home appliances that make use of electric motors. 

IV. Answer the following questions.                                                                                     3x3=9 

9.An object 4 cm in size is placed at 25 Cm in front of a concave mirror of focal length 15 Cm at what 

distance from the mirror should a screen be placed in order to obtain a sharp image. find the nature, size and 

magnification of the image .   OR 

A convex mirror used for rareview on an automobile has a radius of curvature of 3 m if a bus is located at 5 

m from this mirror find the position nature and size of the image give reason . 

10.Give reasons. 

a.  why is the colour of the Sun red at sunrise and sunset? 

b. why are danger signal lights are red in colour? 



c. why is the colour of the clear sky blue ?                                       

                                 OR 

Give reasons. 

a. for the Dispersion of light . 

b.for the spectrum is not obtained in a glass slab. 

c.Rainbow is formed after the rain. 

11. In the below type of coils explain the pattern of magnetic field lines formed. 

a. straight wire b. circular coil.  c. solenoid. 

 

V. Answer the following questions.                                                                                      2x4=8 

12.a. state Ohm’s law? 

      b. write the mathematical formula for Ohm’s law . 

      c. List the factors on which the resistance of a conductor depends upon? 

d. write the mathematical formula for joules law. 

13. a.Define refraction of light ? 

      b. State laws of refraction? 

      c. The refractive index of diamond is 2.42 what do you mean by this statement explain? 

 
PART-B    CHEMISTRY 

 
VI.Four alternatives are given for each of the following questions/ incomplete statements. choose the 

correct alternative and write the complete answer along with its letter of alphabet.                                

2x1=2 

14. The balanced equation among the following 

         A) 2Mg+O2→MgO                   B) Mg+2O2→2MgO 

         C) Mg+O2→2MgO                   D) 2Mg+O2→2MgO 

15.Find out the correct process that takes place when soap interact with water. 

 

                 A)                        B)                             C)                        D)   

 

VII. Answer the following questions                                                                                  4x1=4 
 
16.State the Mendeleev’s law of periodic table 
17.Write the name and the molecular formula of the saturated hydrocarbon  
       having  general formula  CnH2n and containing 3 carbon atom . 
18.The home made chakli turns to rancidity within a few days,but the potato  
      chips bought from the shop, even though manufactured 2 months before will not have any smell, give 
scientific reason. 
19. Why aluminium oxide is known as amphoteric oxide? 
 



 
 
 
VIII. Answer the following questions                                                                                  3x2=6 
20.Draw the diagram to show the electrolysis of water. 

21.Sample of four metals P,Q,R and S were taken and added to the following     

     solution one by one . the result obtained have been tabulated as follows 

Metal ZnSO4 Na2SO4 CaCl2 

P Displacement Displacement Displacement 
Q Displacement No reaction No reaction 
R Displacement No reaction No reaction 
S Displacement No reaction No reaction 

      Use the table above to answer the following questions : 

i) Which is the most reactive metal? 
ii) Arrange these metals in the order of decreasing reactivity. 

22. Draw a neat diagram to show acid solution in water conducts electricity 

IX.Answer the following questions                                                                                      3x3=9  
23.Write the important products obtained in the chlor-alkali process? Write the uses of each products.                                                                

OR 

i) Name the common name of CaOCl2 compound .write 2 uses of thus compound. 

          ii) why do acids not show acidic behaviour in the absence of of water ? 

24.Answer the following  question by observing part of periodic table given below 

 

i) Which metal among these produce cations? 
ii)Which element is having highest atomic size and give reason for your answer. 
iii)List the electro negative elements in this periodic table. 
25. i)Explain the ionic bond formed between Sodium and Chlorine. 
       ii)Ionic compounds have high melting and boiling points why? 
                                        OR 
        i)Write the difference between Calcination and Roasting. 
       ii)If one of the metal is  mercury in the alloy,then what is the name of that alloy? 
 
X. Answer the following questions                                                                                     1x4=4 
26.’A’is a component of alcohol.If ’A’ oxidises to give ‘B’compound. 
      ‘B’ is used for the preparation of pickles. ‘B’ compound reacts with ‘A’to give  aromatic     
       ‘C’. Write the above given chemical reactions, and find out A,B,C.  
 
 
 
 

 

PART-C    BIOLOGY 

Group→ 
Period↓ 

1 2 16 17 18 

1 X     

2  B D C  

3 M E  L  



XI.Four alternatives are given for each of the following questions/ incomplete statements. choose the 

correct alternative and write the complete answer along with its letter of alphabet.                                                                                                                                

3x1=3                                            

27. One of the below is best option for handling non-biodegradable waste 

 A) Burning                 B) piling up                C)recycling           D) burying 

28. which of the following ‘biodiversity hotspot’ 

A)rivers                      B) forests                  C) dessert              D) ocean 

29. pure-bred pea plant A is crossed with pure-bred pea plant B. It is found that the plants which look like A 

do not appear in F1 generation but seen in F2 generation .which of the plants A and B are tall or dwarf ? 

A) A are tall and B are dwarf                               B) A are tall and B are also tall 

C) A are dwarf and B are also dwarf                   D) A are dwarf and B are tall 

XII. Answer the following questions:                                                                                   2x1=2                                                       

30.DDT and lead oxide are regarded as non biodegradable substances . Give reason . 

31. Coal and petroleum resources has to be used judiciously. Why? 

XIII. Answer the following questions :                                                                                2x2=4 

32. In the diagram given below A ,B ,C , D represents different parts of digestive system. Referring the 

diagram answer the given questions , 

 

a) Identify and name the part which is responsible for the emulsification of fats  and name the enzyme 

responsible for the emulsification of fats . 

b) identify and name the part in which hydrochloric acid is released and mention the function of 

hydrochloric acid in digestion process. 

33. a) why the plant cells grow longer when it detects light ? 

b) In which part of the plant body cytokinin hormone concentration is more?     OR 

 How adrenaline hormone helps the body to deal with emergency situations? 

XIV. Answer the following question:                                                                                   3x3=9 

34. a) Multicellular organisms require more complex reproduction methods.Give reason . 

      b) In male reproductive system testis is located outside the abdominal cavity in scrotum. Give reason. 

c)Mention the important feature of the organism responsible for the maintenance of body design . 

35. a) What is meant by aerobic respiration and anaerobic respiration  ? 



     b) How do you think the energy released during cellular respiration is  

utilized ?  

     c) Rate of breathing in aquatic organisms is much faster than that of terrestrial organisms. Why? 

36.a) Large dams can be used to store water and also used to generate electricity .But environmentalists are 

against the construct large dams . Analyze and give proper reasons for the statement . 

b) ‘Mining is also a form of pollution’ . justify your answer. 

 

XV. Answer the following question:                                                                                    1x4=4 

37. Draw the neat diagram of brain and label the following parts: 

      a) cerebellum                                        b) medulla 

OR 

Draw neat labelled diagram of structure of neuron and answer the following questions: 

a) where the information is acquired ? 

b) where the information must be converted into a chemical signal for onward transmission . 

XVI. Answer the following question:                                                                                   1x5=5 

 38.  a) Explain how the organisms restore the normal number of chromosomes in the progeny ? 

     b) Mention the factors that led to the emergence of new species.  

     c) Mention the basic events in evolution . 

     d) write the differences between homologous organs and analogous organs. 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 









 
 

                                        
                                 CHEMISTRY 

PART-B 
  
Qn 
 Nos 

 Value Points Total 

VI. 
  
14. 
 
15. 
 
 
 
 
 
VII. 
16. 
 
 
17. 
 
18. 
 
 
 
19. 
 
 
VIII.   
20 

Multiple   choice questions:                                                       2x1=2 
Ans: 
 (D) 2Mg+O2→2MgO    
 
Ans: 

(D)  
 
Answer the following questions :                                                4x1=4 
Ans: 
The properties of the elements are the periodic function of their atomic 
mass. 
Ans:Cyclo propane C3H6     

 
Ans:  
Because chips bags are flushed with gas such as nitrogen as anti oxident 
to prevent the chips from getting oxidised. 
 
Ans: 
Because it reacts with acids and bases to form salt and water.                                                                                       
 
Answer the following questions.                                                   3x2=6   
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21. 
 
 
 
 
22. 
 
 
 
 
 
 
 
 
IX. 
 
23. 
 
 
 
 
 
 
 
 
 
 
 
 
24. 
 
 
 
 
25. 

Ans:  
     i) Most active element P 1 
       ii) S>R>Q>P          
 
                

 
 
Answer the following questions                                                      3x3=9 
Ans: 
 Products of Chlor- alkali process 
      i) Chlorine:Water treatment/Swimming pool 1 
      ii)Hydrogen: Fuels/Margirine 1 
     iii)Sodium  Hydroxide:De-greasing metals/Soaps and detergents 1 
                                                   OR 
        i)  Bleaching powder.                                                                                                           

• Used for disinfection of drinking water.                                                     
• Used for bleaching wood pulp in the paper manufacturing 

industry.   
       ii)Because water being a polar solvent assists in the dissociation of acids  

      into their respective ions. 
Ans: 
i)X and M 
ii)M, because atomic size decreases along the period and increases along the 
group.  
iii) D,C,L are electronegative. 
Ans: 
i) Electronic configuration of Sodium is (2,8,1)   Electronic configuration 
ofChlorine is (2,8,7)                                                                  
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ii) Because a considerable amount of energy is required to break the strong  1 
       inter-ionic  attraction. 
 OR 
 
Ans: 

Roasting  Calcination 
 Heating ores strongly in the 
presence of excess air. 

Heating ores strongly in limited 
air 

Sulphur ores are converted into 
oxides 

Carbonates ores are changed into 
oxides 

 i)     
 
 
 
    
 
 ii)   Amlgam  
 
Answer the following questions                                                          1x4=4 
Ans: 
.      A—--oxidise----→B 1 

A+B----------------→C  
C2H5OH----------------→ CH3COOH 1 
    (A) (B) 

C2H5OH+CH3COOH---------→CH3COOC2H5+H2O 1 
    (A) (B) (C) 
 
 ‘A’= Ethanol 1 
‘B’=Ethanoic acid 
 ‘C’=Ethyl acetate       
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 Multiple choice questions:                                                                   
 c) Recycling  
 b) forests 
 d) A are dwarf and B are tall 
 
Answer the following questions:            
 
 Because DDT and lead oxide does not undergo decomposition by the bacterial activity . 
 
 Because coal and petroleum are huge reservoirs of carbon ,which releases carbon dioxide 
and leads to global warming . 
 
Answer the following questions:                                                    
 a) B-Liver                                                                                                              ½ 
Enzyme that helps in emulsification of fats is Lipase                                    ½ 
 b) C-Stomach                                                                                                      ½ 
Hydrochloric acid create acidic medium which facilitates the action of the enzyme Pepsin.                                                                                                  
½ 
 
a) when growing plants detect light ,a hormone called auxin is synthesized at the shoot tip 
and helps the cells to grow longer.1 
b) cytokinin is present in greater concentration in areas of rapid cell division, such as in 
fruits and seeds.                                                                                    1 

                                                           OR 
i. Adrenaline is secreted directly into the blood  and carried to different parts of 

the body . 
ii. As a result heart beats faster. 

iii. oxygen supply increases. Blood in digestive system and skin is 
reduced. 

iv. Breathing rate also increases. 
All these responses together enable the body to be ready to deal with 
the situation. 

 Answer the following questions:                                         
 a) In multicellular organisms specialized cells are organized into tissues and tissues are 
organized into organs which then has to be placed at different positions in the body .in 
such situation cell by cell division would be impractical.                                             1                                                                  
b) Because sperm formation requires a lower temperature than the normal body  
temperature.          1 

3x1=3 
1 
1 
1 
 
2 x1=2   
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1 
 
 
2 x2=4                                                  
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3 x 3=9                                              
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c) The consistency of DNA copying during reproduction .                 1 
 

a) Type of respiration which takes  place by the presence of oxygen and releases carbon 
dioxide and water is called aerobic respiration                       1 
Type of respiration which takes  place in the absence of oxygen and releases ethanol and 
carbon dioxide is called anaerobic respiration.                            1 
b) Energy released during cellular respiration is utilized in the form of ATP. 1 
c) since amount of dissolved oxygen is fairly low in water,  aquatic organisms breathing 
rate is much faster than that of terrestrial organisms.  
a) environmentalists are against the construct large dams because it address three 
problems : 

i. Social problems : displacing large number of peasants and tribals without adequate 
compensation or rehabilitation. 

ii. Economic problem: swallowing up huge amounts of public money without the 
generation of proportionate benefits. 

iii. Environmental problems: large dams leads to enormous deforestation and loss of 
biological diversity. (Any 2)                 1+1 

b) mining causes pollution because of the large amount of slag which is discarded during 
metal extraction.                                                                      1 

Answer the following questions:                                                

 

 
OR 

                       2             
a) Dendrite                                                                                                            1 
b) Nerve ending                                                                                                     1 
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XVI 
38 

 
Answer the following questions:                                             
38. a) Each cell will have one chromosome from maternal or paternal origin .When germ 
cells combine ,they will restore the normal number of chromosomes in the progeny.     1 
                                                                            
b) Flow of genes , natural selection and genetical drift.                                      1 
c) The changes that takes place in DNA during reproduction is the basic event of 
evolution.                                                                                                               1 
 
 
d)                                                                                                                         1+1 
Homologous organs Analogous organs 

i. Organs which are inherited from a 
common ancestor but performs  
different functions are homologous 
organs. 

i. Organs which have different origin but 
perform similar function are analogous 
organs. 

ii. Example : forelimbs of birds and 
humans 

ii. wings of bats and birds 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
1x5=5 
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